
��������� �����
	��
���������������
��������� � !"� # $%��&(')# $%��*,+.-/��01$32%2�4
*,+5-6')�%0

798;: <>=?:.@ ACBEDGF

HJIKIMLKNPORQTSUQTVXWZY[Q]\3^_Ya`bYdc(egfihjQjkl^_Ynmporq]sutwv[xJIzyKHP{K{}|~I��KxJoaf����,v[xJI�yKH�{K{P{Kx�IKI������� v��K���]�]��o��u��� � o ��� t�� ��� � �r�r�����~� o �¡ ¢�

��£¥¤ ¦l§�¨�©lª�«5�­¬®©lª�«¯¨K°±ª�²[¨K¬´³¶µ�¬¸·
¹�º �a¤ »¼¦�§�·~¦}©b²a¨½¬´³¶µ¾·�§b¬´¤ ª�³ ¿;µaÀÁ¤ »Â²n¬´²[¨½©
Ã�¬G§T¤ £�«½ª ·~¬G§Ä�(¦l§j²n£�§�Å¶ª�²[¨K¬´³¶µ¾¨K³ ²nÆ¥¦

�/«K¦}©b²a§�¨�©ÇÃÈ¨K¦±«�É¥µ
Ê Ë}Ì ÍÏÎUÐÇÑ_Ò�Ó�Ô�ËÕÊ Ë´Ê×ÖiØ�ÙRÖ

�
Úw*ÛÚ
Ü]ÝbÜ Þ�ßÏàÛßÛá1âÛßÛã/ä�åbå B





���������
	���
���������
���	���
���	����������! #" $%�'&(���
�)�*�+��	��,���-�.�/�,� 
��102�43��'&������
	��
56���/�7�8��
9�)�#�;:<�������6�
=�
���	����8�-	��>��?8�A@<���*�+�4�
	���5B	��*��C8� ∗

D9E�FHGJILK 1 MONQP�R ESDTE�DVUXWQYZU 2

1 [4\Q]_^`\�aLbdcZegfih�jlkmeonqp�rZhts+eguwvxjlr`eyhza|{�}d~Q�%a�i� a`jm�Zh��`vieyc�nm��[4h���aZ�z�i� �z� \d��egh�c�k�aL^LjqvicLu�hz�
2 {�]_\�s/a��+u��z�yh�s/�i�g��nmhwul�LcZeg���Zhza�{�}d~d�Xa
~��i�`nqh�r`h��`viu��gv.�za �Z�i�.� �,s/vi�gviegkmhwvi��a`^ZjlvxcLu�hi�

� �������*�����

� �)�
�x���O���¡ `�i¢£��� ¤

¥ ¦O��§©¨«ª¬���x­%�i¢£�
�®­��¡�®�i¯¡¨«°6�z��±�²£¨�§³¢£�®´�²£¨� `�x��¢£ «µ#¢£¨|²¶� ·LJo�I W � � � k �¯� � �����¯� olo�o±olo�olo�olo�o�olo±olo�olo�o�olo�olo±olo�o�olo�olo�o±olo�olo�olo�o�olo±olo ¸LJo L Od  �J¹ t � � ��� Yat � � �   � �±f ��� t»º o�olo�o�olo±olo�olo�o�olo�olo±olo�o�olo�olo�o±olo�olo�olo�o�olo±olo ¸

¤ µO����§!��²£­%�i¢¶�
�7¢��A´�²£¨L Z�x��¢£ -µ#¢£¨�²£�7­��¡�½¼¿¾xÀ+§<Á¡�x���i¢£ ÂµO�4�J§!�¡²£­ÄÃm�4�Å°�¨L�z�i�+��±�­%�i¢¶�
�+¾Å¢����i¯¡¨
´Æ²£¨L `�x�J¢£ «µ#¢£¨�²£� Ç{Jo�I f �  �� � t � �����¯� ��� Ydt � � �   � �zf ��� t»º o�o�olo±olo�olo�o�olo�olo±olo�o�olo�olo�o±olo�olo�olo�o�olo±olo H{Jo L Q�È��Z� �r���¯��� ��f �  �� � t �}� �  �O �   ���   ¹ � �����¯� È ���
���~� Yat � � �   � �±f ��� t»º o�olo�o±olo�olo�olo�o�olo±olo IMx

É ª���§<¨���¢£ Z­�²t¼ÊÁ¡Á��z�|Ë+¢�§<­%�i¢£�
�+¾ �%¤|~o�I V ���   � º � � �����¯� olo�olo�o±olo�olo�olo�o�olo±olo�olo�o�olo�olo±olo�o�olo�olo�o±olo�olo�olo�o�olo±olo IM{|~o L ` � È �u  �u��� f �  �� � t � �����¯� olo�olo�olo�o�olo±olo�olo�o�olo�olo±olo�o�olo�olo�o±olo�olo�olo�o�olo±olo IM{
Ì ª���§<¨���¢£ Z­�²tÍ��O L­�²£¢£ÎZ­%�i¢£�
�Ï°6�z�O Z¨����¡��¨L¾ �|É�Jo�I ^ �  �  �u��� Oa  ��ÐX� � �����¯�BÑ9�u���~� º olo�o�olo±olo�olo�o�olo�olo±olo�o�olo�olo�o±olo�olo�olo�o�olo±olo Iu|�Jo L Ñ \lWZVX^�QjtÓÒ �   ����� � o±olo�olo�olo�o�olo±olo�olo�o�olo�olo±olo�o�olo�olo�o±olo�olo�olo�o�olo±olo Ii¸�Jo LJo�I Ydt � � �   � ��V � �Ï�  X� � � �����¯� È o�o�olo±olo�olo�o�olo�olo±olo�o�olo�olo�o±olo�olo�olo�o�olo±olo IMN�Jo LJo L Ñ ��Ò �~�u��� ��V � ���  X� � � �����¯� È�o�olo±olo�olo�o�olo�olo±olo�o�olo�olo�o±olo�olo�olo�o�olo±olo IMH�Jo LJo { Ydt � � �   � ����Ò �~�u��� �zV � ���  X� � � �����¯� È o�olo�o�olo�olo±olo�o�olo�olo�o±olo�olo�olo�o�olo±olo IMH�Jo { V ��Ô½�  �È � f �¯�   ���   Ñ9�u���~� º´o�olo�olo�o�olo±olo�olo�o�olo�olo±olo�o�olo�olo�o±olo�olo�olo�o�olo±olo LKx�Jo | QÈ^ � �P� �¯� ` � È �u  ���r�����¯� � � ���~� S � �M� t �ÓÕ � �����¯� Od  � � � º �   � ÈÂo�o�olo�olo�o±olo�olo�olo�o�olo±olo LK{
Ö ª���§<¨���¢£ Z­�²�¦×¢£§!��²£­%�i¢¶�
�+¾ ¥4¤yJo�I ^ � � �r�r� � �����¯� � td^ �¯�%Ø Ò �   � �����¯� È}o�o�olo±olo�olo�o�olo�olo±olo�o�olo�olo�o±olo�olo�olo�o�olo±olo L |yJo L k � � �   � �M� tdW ��� ºJ� � �EYdt � � �   � �±O �   ���   ¹ � �����¯� È¼o�o�olo�olo±olo�o�olo�olo�o±olo�olo�olo�o�olo±olo LK�yJo { k � � �   � �M� tiS � �M� t �ÓÕ � �����¯� �¡  � � ���~� Od  � � � º �   �6¹ �JÈ � º �¯�
���~� ^ �  �  �u��� Od  ��Ð�� � �����¯�ÙÑ �u���~� º¾o LKHyJo | k � � �   � �M� tiS � �M� t �ÓÕ � �����¯� �¡  � � ���~� Od  � � � º �   �6¹ �JÈ � º �¯�
���~�ÚÑ \lWZVX^�QjtÓÒ �   ����� � o�o�olo±olo {Ky

∗ Û/ÜzÝßÞ×à
áwâäã�àOå�Þ¡æ�å�âèçäéëê,Þèì�æ�æ`á�âèçäíïî�ð)ê,ñ+ò
ó
ô¡óèõ;ö�÷ïøx÷�ù/úgâäáwûüçäÜ�í*ýiâäílþ�ÿ Ü�õ�Ýßþ�ÝßÞ�çèâèê�áwú � îzìzÿïå�çäÝßáwþ�åwþ�î��iÿqÝoíqþxçäÝ���ÿ��¡íqÞèíïå�âäÿ Ü	�

I



yJo � k � � �   � �M� tiS � �M� t �ÓÕ � �����¯� �¡  � � ���~� Od  � � � º �   �6¹ �JÈ � º �¯� � � V �LÔ½�  �È � f �¯�   ���   Ñ �u���~� ºÂolo±olo |��
· �6�
�+ L²��¡¾i¢£���¡¾�­��+�Ï°�¨��z¾xÁd¨L `�i¢���¨�¾ Ì�¥

L



���������	��
���
 Û/ÜzÝßÞdà
áwâäã�îzíïå�éoÞ*à×ÝëçäÜ8çäÜzí#þiìzû#íqâäÝßÿïåwé�éßá)ÿïå�éoÝ��ïå�çäÝßá þ_áwú×Þèû�å�éoé4íléßílÿqçèâäáwû�å��wþ�íqçäÝßÿ�Ýßþ�Ü�áwû#á��wílþ�ílÝëçäÝßílÞ ��Û/Ü�í
ì�þ�îzíqâäéëêiÝßþ��ÆÝßþ��.íqâäÞèí�æzâäáwð�éßílû-ÿláwþ�ÞèÝoîzíqâäÞ���Ýßþ_å�çäÜiâäílí��¶îzÝßû#ílþzÞèÝoáwþJå�é
ð`á ìzþJîiíïî8îiá û�åwÝßþ��%çäÜ�í#çäÝßû#í��SÜJå�âäû#á þ�Ýßÿ�õÆå	�xà/íléßé
í��)ìJå�çäÝoáwþ�Þ*ú á�âäûtìzéyå�çäíïî8Ýßþ�íléßílÿmçèâäÝoÿ �Jíqéyî ��Û4êiæ�Ýßÿïå�éoéëê��%çäÜzí�îzáwû�åwÝßþ�ÿláwþxç å�Ýßþ�Þdå �JþzÝßçäí#þxìzûtð`íqâ*á�ú×ì�þzãiþzáïà×þ8Ýßþ�Üzá û#á��
� ílþzílÝëçäÝßílÞ�áwú+Þèû�å�éoé��.á éßìzû#í�å�þJî8çäÜzí,Ýßþ��.íqâäÞèí�æiâäá ð�éßílûÄå�çèçäílû#æzçäÞ�çäá�éßá)ÿïåwéßÝ��lí�çäÜzílÞèí�ÝoþzÜ�áwû#á�� íqþ�ílÝëçäÝßílÞQúyâäá û�å��Jþ�Ýëçäí
þxì�ûtð`ímâ/áwú%ð`á ì�þ�î�å�âèê�û#íïåwÞèìiâäílû#ílþ)çäÞ ����ìzâ×éßá)ÿïå�éßÝ �lå�çäÝßá þÚå�æ�æzâäá åwÿ ÜÆÝßÞOðJå�Þèíïî�á þ�ådúyâ åwû#íqà
áwâäã!�zâäíqÿlílþ)çäéëê�Ýßþ)çèâäáxîzìzÿlíïî"�
çäÜJå�ç�æiâäá æ`áwÞèílÞ4çäÜzíOì�ÞèíOá�úLåwþ�åwÞ�êiû#æiçäáwçäÝßÿ/í��iæJå�þ�ÞèÝßá þ�úgáwâ4çäÜ�í/æ`ímâèçäìzâäðJå�çäÝßá þ�Þ4ÝßþtçäÜ�í/ç å�þ��wílþ)çäÝyå�é�ð`áwì�þJîzå�âèê�çèâ åwÿqí+á�ú`çäÜ�í
ÿlìzâäé�áwúZçäÜ�í×íléßílÿqçèâäÝßÿ �Jíléoî ��#�í×æzâäílÞèíqþxç4çäÜzâäíqí¡þxì�û#ímâäÝoÿlåwé�éßá)ÿïå�éßÝ �lå�çäÝßá þ�æzâäá)ÿlíïîiìzâäílÞ4âäílÞèì�éëçäÝßþ��*úyâäá û<çäÜ�í+ÿlá ûQð�ÝßþJå�çäÝoáwþ#áwú
çäÜ�ÝßÞ4åwÞ�êiû#æzçäá�çäÝßÿ/í��iæJå�þ�ÞèÝßá þdà×ÝßçäÜtíïåwÿ Ü�áwú`çäÜzí
ú áwéßéoáïà×Ýßþ���Ýßþ��.íqâäÞèÝßá þ�åwé�� á�âäÝßçäÜzû#Þ�$|çäÜzí×ò
ìzâèâäílþ)ç�%Xâäá'&£ílÿqçäÝßá þ#û#íqçäÜzáxî���çäÜ�í
õ)(�éëçäÝßæ�éßí �ió*�wþJå�éXò
éoåwÞèÞèÝ��Jÿlå�çäÝßá þ¿öSõ)( �xóèòOù×åwé�� á�âäÝßçäÜzû+�Zåwþ�îÆåwþÚÝßþ��.íqâäÞèí�ý�áwìzâäÝßíqâ�û#íqçäÜ�áxî �,#�í�æ`íqâèúgáwâäûÏå�þxì�û#íqâäÝßÿïå�é
Þ�çäìJîxê8á�úOçäÜ�í,åwÞ�êiû#æzçäá�çäÝßÿ#í��iæJåwþzÞèÝßá þ_åwþ�î8ÿláwû#æJå�âäí#çäÜzí#þiìzû#íqâäÝßÿïåwé�âäílÞèìzéßçäÞdá ðiç åwÝßþ�ílî8úgâäá û-çäÜ�í�çäÜiâäílí�éßá)ÿïåwéßÝ��ïå�çäÝßáwþ
æzâäá)ÿlílîzìzâäíqÞ+Ýßþ�îiÝ.-Zíqâäílþ)ç×ÞèíqçèçäÝßþ��wÞ �

/)0�13254 �'67��
 Ýßþ8� íqâäÞèí*æzâäáwð�éßílû#Þ��ZõÆå	�xà/íléßé%í��)ì�å�çäÝßá þzÞ��`íléßílÿqçèâäÝßÿ �JíléoîzÞ��zçäÜzâäílí9�£îiÝßû#ílþ�ÞèÝßá þ�åwé�ÝoþzÜ�áwû#á�� íqþ�ílÝëçäÝßílÞ�� � éßílÿqçèâäÝ.�
ÿïåwé�ó¶û#æ`íïî�å�þ�ÿlídÛ|áwû#á��wâ å�æ�Ü)ê���ò
ìzâèâäíqþxç:%�âäá	&�ílÿmçäÝoáwþ�û#íqçäÜzáxî��Lõ)(��ióèòÙåwé�� á�âäÝßçäÜzû+��ýXýXÛ;��ílî<� ítíléßílû#ílþ)çäÞ��Zþxì�û#íqâäÝßÿïå�é
ð`á ìzþJî�å�âèê,û#íïåwÞèìiâäílû#ílþ)çäÞ
=?>A@B4 6 0 ��
DCFE � C�G �!H E ô:I)÷���H E ô C�G �Zø�JwñKI E

L $%���4�/��C��8�×�
	����

q �~� t � �M� t �ÓÕ � �����¯�%� � ���r�~� � � Ò �u�~�u������� ÈG� �¯��� � ���~� º ��� � ¹��¯�r� º � º º � ��� ���Â� È � ��ÒK  � � �P� � ���   � � � � � È ��� � �¸���
� �JÈÚÈ �.Ô½�   � t �   �¯� ��� �M� t_� �r� t � �M� �����¯� ÈMv � º �u����� Ø �M� �����¯�)� � �M� � � �   ��� � �  �È�M+º �u��� � �����¯� � �]� �����ONw�Ï�  �È �¯�r�~� ta� ���~� È�M
t � �M� t �ÓÕ � �����¯��� �Ï�u  �¯�'P|È�MRo�o�o \�È � � t�t��"MK� �~�u� � � È � � P ��� t � �M� t �ÓÕM� � �P���r�~� � � Ò �u�~�u��� ��� �¯��� � ���~� º ��� �Æº � ��� ��� M�� �
�   � � �¯� � �   �~� ºG� ����� � �G���LÔ½�  �È ���   �J¹ t � �3� �  a  �u�   ���.ÔZ��� Ò ���~� Ò � � � �u�  �� � � ���~�C���r�~� � � Ò �u�~�u��� � �  a� �   � ����Ò ��� Ò
���~�l�r� �|È � �M� t � �   � � �u���   ��� � � � � �   �¯� ���   �ÓÕM� È ���~�l�~�u���   � Ò �u�~�u��� � � � ���~� º � ��� ��� o
h � � �u��� t��"M�È �.Ô½�   � t,� �  �P|È � � Ô½�Æ¹�� �u� º �.Ô½�¯��� º ���}���~�T��� � �   � �M� ti� � � t��%È � È � � ���~� t � �M� t �ÓÕ � �����¯� � � ���r�~� � ��N

Ò �u�~�u������� È�eg�p��o � o Ò~oRQ {<STM,Q �<STMUQ y<STMUQ�IMx<STMUQ L |�S¡m�M ���¸� �   ��� � � t �   ���´���~�,Ø�� t»º � �iYdt � � �   � �M� tUV � ��� º~� � � � q � � � ÒK  � �r� �½o
q �~� t � �M� t �ÓÕ � �����¯� � � º � t �   �¯��� È � º ¹ �>`}o.V~oi^ � º ����N f �u� ÒK���7M[WÏo Ñ � È�P � �XW Ñ o�WÏoZY � Ò � t ��� È[Q�IMx<S � �¯� È � È � È � �
� º �u����� �g� ��� Ò ���r�~� � � Ò �u�~�u������� È � �,È���� t�t Ô½� t � � �(¹ � � � � ¹r���r��� Ò�� � �JÈ���� �r���¯��� �G� �  �� � t �9� ����� � ������Ô½�  �È ���¯�
� tÓÒ �   ����� �
o_qa� �r� �M� t�t��"M ��� Q�IMx<STM ���~� � �¯� º � � ���ÓÔ���� � �   �J¹ t � � � È�È �u�]��� � ¹Ï�¯�r� º � º«º � ��� ��� � �¯��� � ���r��� Ò´� Ø~�r�����
��� � ¹Ï�   � � �r� P �~� � � ���r�~� � � Ò �u�~�u������� È � ��È���� t�t Ô½� t � � � oEq �~�[����Ô½�  �È ���¯� � tÓÒ �   ����� �?����P � È � È �n� � ���~� �JÈ���� �7N
���¯��� � � �  �� � t �>e � �   �Ï�   ���   ¹ � �����¯� È ���®���~��Ô½� t � ��Ò �P���¯���u����� � t m�ME� � º � È ¹ �JÈ � º �¯� �¸� ���r� � �ÓÕ � �����¯� �   � � � º �   �
� � t � �JÈ ��N È ��� �   � È � � ��� � �   ���~� �M� t�� � t � �����¯� � � ���~� Ò � � � �u�   � �M� t � �   � � �u���  �È � � ���~�b���r�~� � � Ò �u�~�u������� Èze � � � � t��
���~� � �u�����  �Èn� � º_º � � � �u���  �Èn� �~�u�����~� È � �   �#¹ � t�t»Èa� �   � �~� � � t � mpodQ �~�¯���~�  a  � � �¯� È �   � � �����¯� � �r�   � �¯� �G� � ���~� È �
È���� t�t,� �¯� º � � ���ÓÔZ��� � ���r�~� � � Ò �u�~�u������� È8M�� t»È �8¹ �JÈ � º �¯� � �~�¯� t ���~� �  ]� ���r� � �ÓÕ � �����¯�
�   � � � º �   � M � È ���~�j�¯�~�T��� � �
� �¯� È � È � È � � � ����Ò ��� Ò ���~�±� t � � �   � ��� �¯� º � � ���ÓÔZ��� � ���
���~� º � ��� ��� eg�p��o � o Ò~o\Q {<S¡mponh � Ò��  �º ��� Ò ���~� È � � � � �¯� º � � N
���ÓÔZ��� � �   �J¹ t � �]M_^ oJQ��P���   � M�WÏo Ñ � È�P � �`W Ñ o�WÏo�Y � Ò � t ��� È �   �¯��� È � º ��� Q �<SÛ�±t � �M� t �ÓÕ � �����¯���   � � � È�È � �¡È���� t�t
���r�~� � � Ò �u�~�u������� È�M � �~�   �}���~� �JÈ��Z� �r���¯��� �}� �  �� � t � � �)Q�IMx�S � Èl� �¯� È � º �   � ºÁ� �  l� � �JÈ �   ��� Ò ¹Ï�¯�r� º~�  �� Ô½� t � ��Ò �
���   ���   ¹ � �����¯� È ���r����� � ��� º ¹ � � t � � �   � �]� �  �  �u��� È[� �r� t ��� º �¯�}���~��¹��¯�r� º~�  �� � � ���~� º � ��� ��� oES � � ����� ºP� �  �  �u����Nw����N
Ô½� t � ��Ò �T� � �  �È �¯�¸���~��¹Ï�¯�r� º~�  ��G�   �j���~�u�¸� È � º¸�JÈtº~� � � � � ���~������Ô½�  �È ���¯� � tÓÒ �   ����� �/� �r� � � � �¯� È � È � È�M �~�   � M � �
È � t ÔZ��� Ò�� t ���~� �  ,È��%È ��� �6� �  _t � �M� ����� ÒG��È ��� ÒKt �����r�~� � � Ò �u�~�u��� �"M �   � �E�M� t�� � t � ����� ÒG��º � È �u  �u���l���LÔ½�  �È � f �¯�   ���  
�   � � ÈX� �  �� � �Û�ÆÈ � � � t ��� ��� � �JÈ �   � � �u��� È �������~� �M�JÈ �]� � ���~� t � �M� t �ÓÕ � �����¯�G� �,� � t ����� t �����r�~� � � Ò �u�~�u������� ÈMoaq �~�

{



���LÔ½�  �È ���¯� � tÓÒ �   ����� � ��� Q �<S � È ���~�u� M ��� � �¯���   �JÈ �C���}���~�l�¯�~�l� �RQ�IMx<STM �~�¯�7Nw�����   � ���ÓÔ½� � � º ¹ �JÈ � º �¯�
�¯�~�±� � � � �
t ���~� �  ±� �u���~� ºXÈMv ���~� ^ �  �  �u��� Od  ��Ð�� � �����¯� � �u���~� º�e � �  �t � �M� ����� Ò �¬È ��� ÒKt �����r�~� � � Ò �u�~�u��� �~m �   ���~������Ô½�  �È �
f �¯�   ���  j� �u���~� º e � �  ]t � �M� ����� Ò�� � t ����� t �±���r�~� � � Ò �u�~�u������� È¢mpo
`}oDY � t P �iÔ � �  �� � t � ��� È ��� Q L |�S � � � tÓÒ �   ����� � ¹ �JÈ � º)� t»È �
�¯� ���~�����LÔ½�  �È � f �¯�   ���   � �u���~� º>� �  �t � �M� ����� Ò

È���� t�t*º ��� t � � �   � � ���r�~� � � Ò �u�~�u������� È ��� � ¹r�ON º � � �u� È ���¯� � t ¹��¯�r� º � ºHº � ��� ��� M��g  � � � � �JÈ���� �r���¯��� � � � � � � È ���¯�
e �����   � º � � � º � t»È � � �~�   �Á��� Q �<S¡m�� �   ���~� È ��� ºJ� � � ���~� ���   ���   ¹ � �����¯� È �������~�Á� t � � �   � � Ø�� t»º È � ��� ÈX�g� ��� Ò ���~�
^ � t�� �~� t �ïÕ � ��� � �����¯� o q �~� º �.Ô½� t �¯� � �u���l� � ���r� Èb� tÓÒ �   ����� � � ÈT� t»È � º � È��u  �Ó¹�� º ��� Q L |�SÛ� �   ���~��� º �u����� Ø �M� �����¯�
� � ���   � ��N º � � �u� È ���¯� � ttº ��� t � � �   � � ���r�~� � � Ò �u�~�u������� È � �tÈ���� t�t Ô½� t � � � M,�g  � � ���~� � �   Ø�� t»º � � �����   � � � � Ø � � º
�g  � ���~�u� �u�½o
V �®���~� � �¯����� � �±� �]t � �M� t �ÓÕ � �����¯� ��� � �®�r��¹Ï�¯�r� º � º º � ��� ��� M;^zo,Qj�P���   � M Y�oUVÕ��P �iÔ t �.Ô � W6`}oUS � È�È � t ���  

� � Ô½� º �.Ô½� t �¯��� º ��� Q�IFSd� � � tÓÒ �   ����� � � �  jt � �M� ����� Ò(È���� t�t ¹r�ON º � � �u� È ���¯� � t ��� �ut � È ���¯� È ¹r�   ��� º ��� � � � t � N È � �¯� �
�g  � � ���~� È��M� �����   ��� Ò�� � � t ����� º � � � � Ø � � º)�¡  � ���~�u� �u�½oÂV � Q�I�STM ���~� � �¯���������~�¯� È �   �J¹ t � � � È È �u� � �����Â���~�
�~� t �>� � ���~��¹r�ON º � � �u� È ���¯� � t ^ � t�� �~� t �ïÕ�� ��� � �����¯� MÛ� � �JÈ��Z� �r���¯��� � � � � � � È ���¯�>� � ���~� È��M� �����   ��� Ò � � � t ����� º �
� È �   � È �u����� ºDM�� � º ���~�b���LÔ½�  �È ���¯� � tÓÒ �   ����� � � È � È�È �u����� � t�t��´� � �u���~� º¸� �  ]� � �   �¯� ���   �ÓÕ ��� Ò ���~�   � � Ò �l� �a��È � t � N
�Jº Ð��¯�����z�¯���   � ���  Mo´q �r� È � È �´t ���~� �  ±� �u���~� ºDM �M� t�t � º Ñ \lWZV�^ e Ñ \jt ����� t � WZVmÒ � � t ^nt �JÈ�È � Ø �M� �����¯� m�M¡Ò �u�~�   � t�t��
� È � º ��� È � Ò � � t �   � � � È�È ��� Ò ���~� �  ��"Mj� � º P �~� � � � �   � È ��� ��� ����� Ò ���~� ��� º �ÓÔ�� º � � tT�g  � ���~�u� � ��� È � �±� � t ����� t ��N
� �  �� �¯�r� �6È � Ò � � t»È Q LK{�S o

� �   � � �   ��� Q {<STM_Q |�STM�Q N�STM�Q�IML<STM_Q�Iu|�STM_Q�Ii¸8STM7Q�IMH�STM7Q LJIFSTM7Q LKL�S�� �   �¯���~�   ��� � �   � �M� tr� �u���~� ºXÈ�M½�JÈÛ� � t�t~�JÈU� �   ���Z� t»È�M
� � � � º � � È � t ÔZ��� Ò ���~�   � � �¯� È �   � � �����¯�9�   �J¹ t � � � �d� �¯� º � � ���ÓÔ���� � ���r�~� � � Ò �u�~�u������� È8M � t �JÈ ��� � ���r�~� � � Ò �u�~�u������� È8M
� � º�º ��� t � � �   � � ���r�~� � � Ò �u�~�u������� È�M ��� º ���,�   �u��� È �u������� ÒZÈMo

Ñ �   �   � � �u��� t��"M5^ o Qj�P���   � M Ñ o�WÏoZY � Ò � t ��� È W�`}oZY � t P �iÔ Q y�S � � Ô½�¸�����   � º � � � ºÂ���g  � � � � �  �P � �   ���~�
t � �M� t �ÓÕ � �����¯�´� �����	��
�
�
�������
���������������
���
�� �������!�#"���
$���%� ���r�~� � � Ò �u�~�u������� È o[q �r� Èn�¡  � � � � �  �PG� �¯� È � º �  �È ���~�T��� � ��N
� �  �� �¯�r� � Ñ ���J� � t�t � ��� � �����¯� È ��� � ���   � ��N º � � �u� È ���¯� � t ¹��¯�r� º � º«º � ��� ���

Ω
� �¯��� � ���r��� Ò�� Ø~�r��������� � ¹��  

m� � �r� P �~� � �9���r�~� � � Ò �u�~�u������� È � ��È���� t�t Ô½� t � � � MÏ� � º �   �¯�Ï� È � È ��� t � �M� t �ÓÕM�±���~� È �����r�~� � � Ò �u�~�u������� ÈT�g  � ��� �
�JÈ��Z� �r���¯��� � � � � � � È ���¯�)� � ���~�����   ���   ¹ � �����¯�����)���~� e � � � Ò �u����� � t m ¹Ï�¯�r� º~�  ��®����Ò �~�u��� � Ø�� t»º,o
V � ���~���   � È N
�u� � �±� �E� � t�t N È �u� �   � ��� º ���r�~� � � Ò �u�~�u������� È8MÏ� � º � t»È � º � È � � ��� �g  � �

∂Ω
M ���~��¹��¯�r� º~�  �� � �

Ω
M ���~� �JÈ��Z� �r���¯��� �

� � � � � È ���¯� È � � ��� È ��� � � Mr� �  �� � �
z ∈ ∂Ω

M

(Hα −H0)(z) × ν(z) − 2

∫

∂Ω
curlz(Φ

k(x, z)(Hα −H0)(x) × ν(x)) × ν(z) dσx

= 2α3ω2
m∑

j=1

µ0
µj

(µ0 − µj)G(zj , z) × ν(z)M j(
µ0
µj

)H0(zj)

+ 2α3
m∑

j=1

( 1
εj

− 1
ε0

)((curlxG)(zj , z))
T × ν(z)M j(ε0εj

)(curlxH0)(zj) + O(α4) .

eXI m

V �
(1)

M
α
� È ���~� � � �P� �¯�>�  �º �   � �_����Ò �r����� º �P� � ���~� º � � � �u���  �È � � ���~�}���r�~� � � Ò �u�~�u������� È�Mi� � º ���~�z���¯����� È

zj
M
1 ≤ j ≤ m

MJ  �u�   � È �u���j���~�!& � �u�����  �È &�� � ���~�l���r�~� � � Ò �u�~�u������� ÈMo q �~� ����Ò �~�u��� � Ø�� t»º � È�º �u�~�¯��� º ¹ �
Hα

���
���~�}�   � È �u� � �P� � ���~�z���r�~� � � Ò �u�~�u������� È}� � º ¹ �

H0
��� ���~� � ¹ È �u� � �P� � � � � ���r�~� � � Ò �u�~�u������� ÈMoPq �~�}�¯�r� � �  �º

�r�r���[�~�  ���� t ���
Ω
� Èa  �u�   � È �u����� º ¹ �

ν
M�� � º

ω
� Èn�ÆÒ �ÓÔ½�u� �g  � ���~�u� �u�½oEq �~� eg� �¯� È � � ��� m ¹ �¯�	P|ÒK  �¯�r� º�����Ò �~�u��� �

|



���  �� � � ¹r� t ��� �9� � º9� � � � t � � �Ï�  �� �������ÓÔZ��� � �   �
µ0
� � º

ε0
  � È ��� � ���ÓÔ½� t��½oCQjt»È � M

µj
� � º

εj
�   �±���~� eg� �¯� È � � ��� m

����Ò �~�u��� � ���  �� � � ¹r� t ��� ��� � º ���~� � � � � t � � �Ï�  �� �������ÓÔZ��� � � � ���~�
j
���´���r�~� � � Ò �u�~�u��� �"M

k2 = ω2ε0µ0
M
Φk � È ���~�

� �g  � � È � �¯� �����   � �u� & È]� �r� � �����¯� � �   ���~� ^ � t�� �~� t �ïÕ±�¯���   � ���  
∆ + k2 odq �~�l�¯�Ï�   � ���  �È�� �r� t ��� º ���z���~� ��� �   � �

Ô � t �~� º � �r� � �����¯�
G
�¯� � � � t � � �7Nä¹ � N � � t � � � MJ� � º

G(x, z)
� È ���~��� �¡  � � È � �¯� �����   � �u� & Èi� �r� � �����¯� � �   ���~��� ¹ �¯�'P N

ÒK  �¯�r� º � ����Ò �~�u��� � �   �J¹ t � �
v
curlx ( 1

ε0
curlxG(x, z)) − ω2µ0G(x, z) = −δzI3

M~� �����
I3
���~�

3 × 3
� º �u������� �

��� �   � �DM
δz
���~� ` �   �¯� ���JÈ�Èl� �

z
olQjt»È �G���

(1)
M ���~� È �r���  �È��u  ���r���

T
� º �u�~�¯��� È ���~� �   � � È ��� È � M

M j(
µ0
µj

)
� � º

M j(ε0εj )
�   � ���~� ��� t �   �ÓÕ � �����¯�����u� È �  �Èa�JÈ�È � � � � ��� º}� ���������~�

j
�������r�~� � � Ò �u�~�u��� � e�È����P� �u�   � �

3×3
��� �   � � � È¢mpo

f ��� � t�t��"M ���~�l�~�¯� � �����¯�
O(α4)

� � � � ÈT� ���  �� ��� � � Ò �Z� È ����ÕM�   � t � P �
α4 M �r�r� � �  ��Pt�� ���

z
o

V �n� È]� t�  � �JºJ� � � �Ï�   � � ���_��� � �u�������¯����� � �_��� � �¯���   �JÈ �]���±���~� t �  ïÒ ��Ô �   ���u� �¸� � º � � ���u� È �ÓÔ½� t � È �_� � � � ���  �È
º �.Ô½�¯��� º �������~��¹r�ON º � � �u� È ���¯� � t ��� � �   � �M� tÏt � �M� t �ÓÕ � �����¯� MZ� � º ���~�¯��Ø~� º �������~� t �����   � ���   � ��È � � � t �  n  � � Ò �j� �
  � � �   �u� � � È�� �   ���~�z���   � ��N º � � �u� È ���¯� � t ��� � �   � �M� tit � �M� t �ÓÕ � �����¯� obQ�t»È � M ��� ���~�ÚØ�� t»º � �[Ydt � � �   � �M� tdV � ��� º~� � � �
q � � � ÒK  � �r� �9egYaVÕq�m�M¯� �~�   �C�¯�~� È � � P%È ���   � � �iÔ½�   ���~�]�r� P �~� � �����r�~� � � Ò �u�~�u������� È � �¯��� � ���~� º ��� � ¹Ï� ºJ���g  � �
� � �JÈ �   � � �u��� È �¯� ���~�Ú¹�� ºJ� & È�È �  X�w�¯� � Mr� � È �   � � �   �u� � � ÈT� �¯� � �   �~� º � �����
��� � �   � �M� t t � �M� t �ÓÕ � �����¯� ����P ��� È �
� ��È�� �����~�u��� ��º~� � �¸e ¹ �¸�JºXº ��� Ò �   �~�¯�   � � º � � �~�¯� È � È¢m ��� È ��� �Jº � � ���~� È � � � �JÈ �   � � �u��� ÈMo � �T���r��� P ��� � � ���~�
¹�� È � �_�M� ���l��� � �   � �M� t�t�� Ô � t � º~� ��� �lt � �M� t �ÓÕ � �����¯�G�   � � � º �   � MJ� � º ��� � �~� �	P ��� Èa  �J¹r� È ���~� È�È�M�� �¯� È � È � È � � � È ��� Ò
��� � �   � �M� t×º~� � ��� � �¯� � º~� ��� �6� �  �  � È �Ï�¯� ºXÈ �¯� ��� � t�t�� ���±���~����� � �   � �M� tÛ� �r�   � � � ��� �����¯�
� � ��� � �JÈ �   � � �u���
�¯�
���~�Æ¹�� ºJ� & È�È �  X�w�¯� � o�	 �  j� �r�   � �¯� � � � t�t ¹��l�   ���u����� º �������r� È,º �   � � �����¯� o
V �
���r� È � � ���  �Mr� � º � � tU� �����9���~�l��� � �   � �M� tit � �M� t �ÓÕ � �����¯�Á� � � t � � �   � ����Ò �~�u��� � ���r�~� � � Ò �u�~�u������� È � �*È���� t�t

Ô½� t � � � o � � �   � � �¯� � �   �~� º)� ����� � �����LÔ½�  �È �G�   �J¹ t � � ��� � � � �¯� È � º �  �È8M ��� � ���   � ��N º � � �u� È ���¯� � t ¹��¯�r� º � º
º � ��� ���

Ω
M ���~�_��� � ��Nw� �  �� �¯�r� � Ñ ���J� � t�t � ��� � �����¯� Èi� �  �� � t � ��� º ���}� t � � �   � � Ø�� t»º,oEV � �w�¯� � M

Ω
� �¯��� � ��� Èa� Ø~�r�����

��� � ¹Ï�  
m
� � �r� P �~� � �����r�~� � � Ò �u�~�u������� Èn� � º ���~� ����Ô½�  �È � �   �J¹ t � �3� �¯� È � È � È � �Ït � �M� t �ÓÕ ��� Ò ��� � �   � �M� t�t�� ���~� È �

���r�~� � � Ò �u�~�u������� Èj�¡  � � � Ø~�r��������� � ¹Ï�   � � ¹��¯�r� º~�  ��´� � �JÈ �   � � �u��� È o_q �r� ÈC� �  �P´�w� t�t»È�º �   � � � t�� ���
���~�ÆØ�� t»º
� �lYaV qlo[Q �Â�r� º �  �t�� ��� Ò)� �r� t � �M� �����¯� � �¯� t»º¶� �¯� � �   � È � �M� t�t � º � � ºXºJ�¥� �  �  �u��� � �u���~� ºXÈ � Mn� �r� � � �   �
�~� �
�g  � ���~�u��� t�� � È � º � �  T� �  �  � È ���¯� � � º �¯���~�  T� �u� � t�º � � � � �T��� È �Ï� � �����¯� È o�Q � �   ��� � � t �  �t��9� � � t�t �u� Ò ��� Ò �   �¯� ��� �M� t
� �r� t � �M� �����¯� � �¯� t»º ¹������~�G� º �u����� Ø �M� �����¯�¶� �b� �����ONw���  �È �¯�r�~� t N � � º �¯���~�   � � ��� È � �j� ���~� ÈMo9V �)���r� È P ��� º � �
� �r� t � �M� �����¯�����d� È � � ���u���~�¯�d�~� � � È�È �  �� ���   � � �¯� È �   � � �a���~�]�   � � � È ��Ô � t �~� È � � ���~�C� t � � �   � ����Ò �~�u��� � � �   � � �u���  �È
� � ���~�z���r�~� � � Ò �u�~�u������� È �   ���~�u�  ÆÈ � � �Ï� È�M
È ��� � � � � �   � �   � ���   � t�� �������   � È ��� º ���9���~�u�   ��� È �������¯� È ���

Ω
o�	 �  

t � �M� t �ÓÕ � �����¯� � �r�   � �¯� � � � t�t ��� ��� t��
� �¯� È � È �T� �at � �M� ����� Ò ���~� & � �u�����  �È &�� � ���~�z���r�~� � � Ò �u�~�u������� È�� � º ��� È � � �
È ����� � �����¯� È�M[� �~�u�

m = 1
M � � �   �iÔ�� º ��� Ò ���~� � �u�����  �� � º ���~� º � � � �u���   � � ���~�¸���r�~� � � Ò �u�~�u��� �%� � � Ø � � º

�g  � ���~�u� �u�
ω
o

q �~� �g  � � � � �  �P º �.Ô½� t �¯��� º ��� Q y<S � È ���~�#¹ �JÈ � È � � ���r� ÈEt � �M� t �ÓÕ � �����¯� � �r�   � �¯� � MJ� � ºP� � �   � �~� �%� �¯� � �   �~� º
� ����� � � � � � t � Ò �¯� È]�JÈ��Z� �r���¯��� � � � � � � È ���¯�G���

(1)
º �.Ô½�¯��� º �������~� È ��� ºJ� � � �Ï�   ���   ¹ � �����¯� È �������~��� � � Ò �u����� � t

¹��¯�r� º~�  �� �   �¯� �]� � ���~� � �  �t � � ���~� 
���
�� ��������
 
�����º �~� ���j���~� �   � È �u� � �C� � ���r�~� � � Ò �u�~�u������� È ���
Ω
o Q � �   ��� � � t �  

  � � �  �� � t � �����¯�Á� � ���r� È��JÈ���� �r���¯��� � � � � � � È ���¯� t � �JºXÈ ��� � � �JÈ��Z� �r���¯��� �l� �  �� � t � ��� � � � t�t � ��È � È ��� � � � �r�r���
¹��¯�r� º~�  �� � � �JÈ �   � � �u��� È � � � Ô½� t � ��Ò ���´� � �Ï� �¡  � � �   � È��u  �Ó¹�� º ¹Ï�¯�r� º~�  ��)� �  �  �u��� ÈMo q �~� t � �M� t �ÓÕ � �����¯� � �7N
�   � �¯� � �   � È �u����� º �~�   �b� ÈC� � � � ¹r��� � �����¯�9� � ���r� ÈC�JÈ��Z� �r���¯��� �T� �  �� � t �P� � º � �E�8È �r����� º ����Ô½�  �È ���¯� � tÓÒ �   ����� �
È ��� � � ���~� � � �JÈ �   � � �u��� È�Ò �u�~�   � ��� º}�g  � � ���~� � �  �� � t �l�   � � È � ºP�JÈ*º~� � � � � ���~� � tÓÒ �   ����� �"� � � � º�� � t � �M� ����� Ò

�



���~� ���r�~� � � Ò �u�~�u������� ÈMo±f~  � �¾� �   �¯� ��� �M� t ���¯������� � ÔZ��� � M ���~� È � º~� � ���   �}� � ���   � � �u��� � td� � �JÈ �   � � �u��� È±� � º
�g  � �
� È � � � t � �����¯�9�Ï�¯������� � Ô���� � M ���~� �
�   �b��� � �   � �M� t�t��9� � � �r�r��� º ¹Ï�¯�r� º~�  ��´� � �JÈ �   � � �u��� ÈMo
q �r� Èb� �  �P � È �  ïÒ�� �r�ÓÕM� º ��� È �.Ô½�u� È � � �����¯� ÈMo�V � W � � �����¯� L7M�� �z�����   � º � � � È � � �z�~�¯� � �����¯� � � º!º � È��u  �Ó¹�� M

� ���������~� �~� t �¼� � ���~�9��� � ��Nw� �  �� �¯�r� � Ñ ���J� � t�t � ��� � �����¯� È8M ���~� � ¹ �¯�'P�ÒK  �¯�r� º �Á�   �J¹ t � � ����� t � � �   � � Ø�� t»º
�JÈ�� � t�tj�JÈ ���~�
�   �J¹ t � � ���%� t � � �   � � Ø�� t»º ���¶���~���   � È �u� � � � � ���r�~� � � Ò �u�~�u������� È ���

Ω
o%V � W � � �����¯� {7M ���~�

� � ��P¸� �  �� � t � �����¯� È � � ���~� È �l�   �J¹ t � �_È ���9� t � � �   � � Ø�� t»º �   �l�����   � º � � � ºÁ� � º ���~� �JÈ���� �r���¯��� � � � � � � È ���¯� � �  
���~�z�Ï�   ���   ¹ � �����¯� È ��� ���~� � � � Ò �u����� � t ¹��¯�r� º~�  �� �   �¯� �}� � ���~� � �  �t � � ���~�}� t � � �   � � Ø�� t»º � Èb� �¯� È � º �   � º,obq �~�
�JÈ��Z� �r���¯��� �_� �  �� � t �T� �  �Ò �u�~�   � ����� Ò ¹Ï�¯�r� º~�  �� � � �JÈ �   � � �u��� È � � � Ô½� t � ��Ò ��� � � �Ï� � Èa� t»È �j�   � È �u����� º �~�   � o � �
�   �T�������   � È ��� º ��� W � � �����¯� | ��� �z� �¯� � �  �� ��� ÒP� � � � º Ø~�r�����T� t � � �u��� º � È��u  �u���ÓÕ � �����¯�
� � ���~� � � ��P�� �  �� � t � �����¯�
�JÈ�È � � � � ��� º � �����}���~�n�   �J¹ t � � ���P� t � � �   � � Ø�� t»º ���}���~�[�   � È �u� � �]� � ���r�~� � � Ò �u�~�u������� ÈModq �~� � �¯� È � º �   � º º � È��u  �u���
� �  �� � t � �����¯��� È � È´kTs)ºrsut � � & È � º%Ò �Á� t � � �u��� È � � º�� t�t � ��È � È ��� � � � �r�r���Á���~� � t � � �   � � Ø�� t»ºDM ���r����� � ��� º ¹ �
� ¹��¯�r� º~�  ��)� �  �  �u��� M[� �   �.Ô � t � � ����� Ò ��� � �   � �M� t�t�� ���~� � �  �  � È ���¯� º ��� Ò ¹��¯�r� º~�  ���� � �JÈ �   � � �u��� o�W ��� � � �
Ø~�r��������� � ¹��   � � ��� � �   � �M� t ¹��¯�r� º~�  ���� � �JÈ �   � � �u��� È � È �~� � º � º ���9���~������Ô½�  �È ���¯�9�   � � � º �   � M ���~� e�º �   � � � m
� � � �r�r� � �����¯�
� � ���~� º � È��u  �u���b� t � � �   � � Ø�� t»º�� � t�t ¹��   � ���r�   � º´� Ø~�r�����T��� � ¹Ï�   � � ��� � � È�Mr� � º¸� �¯� È � ���~�u��� t��"M��
Ø~�r����� ��� � ¹Ï�   � � ¹Ï�¯�r� º~�  �� � �  �  �u��� È[� � t�t ¹�� � �r� t ��� º,oEV � W � � �����¯� �7M¯� � º � È �u  �Ó¹Ï�_���   � � ���LÔ½�  �È ���¯� � tÓÒ �   ����� �_È
��� � � � � t�t ¹��j� È � º¬º � È ����� � � t�� �������~�b��� � �   � �M� t+È � � � t � �����¯� ÈMv ���~� ^ �  �  �u��� Od  ��Ð�� � �����¯� � �u���~� ºDM ���~��Ñ \lWZVX^
� tÓÒ �   ����� � � � º ���~�¸���LÔ½�  �È � f �¯�   ���  �� �u���~� º,o�V � �JÈ�È � � � � �����¯� � �����Â���~� �JÈ���� �r���¯��� �¸� �  �� � t � ��� � � � t�t � ��È
� È ��� Ò �u�~�   � ���¬¹��¯�r� º~�  ���� � �JÈ �   � � �u��� È�M � �¯� �¶�¯�~��� � ���~� È �´���LÔ½�  �È ���¯� � tÓÒ �   ����� �_È¿º � Ø~�~� È�� ��� � �   � �M� t
t � �M� t �ÓÕ � �����¯� �   � � � º �   � odQ � � �¯�~�_� � ���~�n���   � �n��� � �   � �M� t �   � � � º �   � Èd�M� ��¹��[� � � t � � � º � �  it � �M� ����� Ò���È ��� ÒKt �
���r�~� � � Ò �u�~�u��� �"M ¹r�r�a�¯� t�� ���~�_� � ��¹ �JÈ � º �¯�}���~�#Ñ \bWZV�^ � tÓÒ �   ����� �/� � º ���~�_����Ô½�  �È � f �¯�   ���  a� �u���~� º}�M� � ¹Ï�
� È � ºb� �  ,t � �M� ����� Ò�� � t ����� t �[���r�~� � � Ò �u�~�u������� ÈMo[W � � �����¯� y �   � È �u��� È ��� � �   � �M� tZ  � È � t � È �J¹r� � ���~� ºl�g  � � � � ���u� È �ÓÔ½�
È � � � t � �����¯� ÈMo � � � �   � º � È��u  �Ó¹r��� Ò ���~�   � È � t � ÈP� �¯� � �   �r��� Ò ���~�G��� � �   � �M� t]t � �M� t �ÓÕ � �����¯�¶� � ���r�~� � � Ò �u�~�u������� È8M
� �
��� È �Ï� � ����� � �   � �M� t�t�� ���~� �JÈ���� �r���¯��� � � � � � � È ���¯� � �   ���~�����   ���   ¹ � �����¯� È ���Â���~��� � � Ò �u����� � t ¹Ï�¯�r� º~�  ��
�   �¯� ��� � ���~� � �  �t � � ���~��� t � � �   � � Ø�� t»º,o´q �r� È ��� � �   � �M� t ��� È ��� � �����¯� � È ���  X� �  �� � º ���>���~� �M�JÈ �G� ���¬È ��� ÒKt �
���r�~� � � Ò �u�~�u��� � � �¯��� � ���~� º ��� ���~� º � ��� ��� � � º
� �����   � È �Ï� � �j�������~�z� �   � � �u���  

τ = αω
M
τ < 1

M ��� � � t ��� P|È
���~���  �º �   � �C����Ò �r����� º �G� � ���~� º � � � �u���   � � ���~�����r�~� � � Ò �u�~�u��� �

α
� � º ���~� �g  � ���~�u� �u�

ω
o � � Ø~� º ��� � �

���~� ��� �   � � �u�������¯�~� º®�JÈ��Z� �r���¯��� � � � � � � È ���¯� � � º � �¯� È � ���~�u��� t�� ���~� �JÈ��Z� �r���¯��� ��� �  �� � t � ��� � � � t�t � ��È � È ���
� � � �r�r���P���~�8¹��¯�r� º~�  ��9� � �JÈ �   � � �u��� È � È ��� � �   � �M� t�t�� Ô � t � º �¯� t�� � �����r��� �G  � È �   � � ��� º>  � � Ò �P� � Ô � t �~� È � �
τ
o¥V �Â���~� �M�JÈ ��� �b� � t ����� t � ���r�~� � � Ò �u�~�u������� ÈG� �¯��� � ���~� º ���Â���~� º � ��� ��� M ���~� È � � �   � ���  �P¥� � � � È}�g  � �
��� � �   � �M� t�È � � � t � �����¯� È � � ���~�u�  bt � �M� t �ÓÕ � �����¯� v ��� �  �º �   ��� �¯� �r���.Ô½� �¯� � �   � ��� t � �M� t �ÓÕ � �����¯� È8M ���~� �JÈ��Z� �r���¯��� �
� �  �� � t � � �   ���~� � � � �r�r� � �����¯� � � ¹��¯�r� º~�  ��T� � �JÈ �   � � �u��� Èi� � È � � t»È �#¹�� � �¯� È � º �   � º �~�   � � �����r��� �C  � È �   � � ��� º
  � � Ò �±� � Ô � t �~� È � �

τ
M~� �~�   �

α
  �u�   � È �u��� È �~� � ���~� � � �P� �¯�9�  �º �   � �E����Ò �r����� º � � � ���~� º � � � �u���  �È � � ���~�

���r�~� � � Ò �u�~�u������� ÈMonq �~�b��� � �   � �M� tU  � È � t � È �J¹r� � ���~� º�� �����
� �¯� �
�¯�~�l� � ���~�b���   � � t � �M� t �ÓÕ � �����¯���   � � � º �   � È ���
º ���,�   �u��� È �u������� ÒZÈC�   � º � È �u  �Ó¹Ï� º �������r� È#È � � �����¯� o � � �   �b����� È]� �¯� � �   �~� º�� ����� � ��� � �   � �M� tÛ� � � � �   � È �¯�9� �
���~�   � È � t � È � � ���~�����   � �l�   � � � º �   � È�� �~�u�

Ω
� �¯��� � ��� ÈT��È ��� ÒKt �����r�~� � � Ò �u�~�u��� �9� � º�� ����� �P� � � � �   � È �¯�9� �

���~�   � È � t � ÈÛ� �   ���~�[� � � t �JÈ �Û�   � � � º �   � È ��� ���~� �M�JÈ �n� �~� � t ����� t �_���r�~� � � Ò �u�~�u������� ÈModf ��� � t�t��"M`È � � � � �¯� �ut � È ���¯� È
� � º ���  �È ��� � ���ÓÔ½� È��   �   �u���   ��� º ��� W � � �����¯� ¸Zo

y
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� E�� R���� U
	 ���`M
�����+N
S �u�C� Èj� �¯� È � º �  T� ¹��¯�r� º � º �¯���u� È �X¹ È �u�

Ω
� �

IR3 Mr� ����� �_È�� ���¯���«¹Ï�¯�r� º~�  ��
∂Ω
o[f �  �È � � � t � � ��� �´� �±� ��P �

∂Ω
���_¹��

C∞ M ¹r�r�T���r� È�  � Ò � t �   ��� � � �¯� º �������¯� � �¯� t»º ¹�� � �¯� È � º �   � ¹ t��
� � ��P �u�~� º,ojq �~� º � ��� ���
Ω
� �¯��� � ��� È

�~�   � � Ø~�r����� ��� � ¹Ï�  
m
� � ���r�~� � � Ò �u�~�u������� È�M � �¯� ���¯�~�]� � ���~� � �  ��

zj +αBj
MK� �~�   �

Bj ⊂ IR3 � ÈE� ¹��¯�r� º � ºDM
È�� �Z�¯��� e

C∞ m×º � ��� ��� � �¯��� � ���r��� Ò ���~� �   � Ò ��� oiq �~�_���¯� � tr� � t�t � � �����¯��� � ���r�~� � � Ò �u�~�u������� È ����� È � ��P � È ���~� � �  ��
Iα =

m⋃

j=1

(zj +αBj)
oiq �~� ���¯����� È

zj ∈ Ω
M
1 ≤ j ≤ m

M ��� � � º �u���  �� ���~�C���~� t � �M� �����¯� È � � ���~�_���r�~� � � Ò �u�~�u������� È
�   � �JÈ�È � � � º ��� È � ��� ÈX�g�Ïv





0 < d0 ≤ |zj − zk| ∀ j 6= k
M

0 < d0 ≤
º � È �

(zj , ∂Ω) ∀ j
o e L½m

q �~�¸� �   � � �u���  
α > 0

M ���~� � � �P� �¯�Â�  �º �   � ������Ò �r����� º ��� � ���~� º � � � �u���  �È � � ���~�¸���r�~� � � Ò �u�~�u������� È�M � È
È ��� � ���u��� t���È���� t�t ��� È � � � � � � � ��� � �]���~� È �b���r�~� � � Ò �u�~�u������� ÈT�   � º � È ÐX�¯����� � � º ���~�u�  ,º � È � � � � �b���

IR3 \ Ω
� È

t �  ïÒ �   ��� � �
d0/2
oaQ�Èj�}� �¯� È � ���~�u� � �±� � ���~� �JÈ�È � � �r�����¯�

(2)
M ��� � � t�t � ��È ��� � � v

m ≤ 6|Ω|/πd3
0

o
^ �   � ��� ���  �M~� � �M� t�t � �¯� � �¯�~��� � ���~� È � È���� t�t ���r�~� � � Ò �u�~�u������� È8MÏ� � ������
���� 
��#�������Ro

z3+ αB3

z2+ αB2

z1+ αB1

Ω

f � Ò �   � IKvdQ � � �~� � � t ��� �a��º � ��� ��� � �¯��� � ���r��� Ò � � ���  X� � � �����¯� ÈMo

� E � � Y ����� U � � N���� U4I � Y � I�� � U �mP
V �i� � º �u�~�¯����¹ �

µ
���~� ����Ò �~�u��� � �Ï�  �� � � ¹r� t ��� �9� � º ¹ �

εre
���~� e¡  � � t m � t � � �   � � ���  �� �������ÓÔ���� � � � ���~� º � ��� ���

Ω
� �¯��� � ���r��� Ò º �����   �u��� ��� ���   � � t»È�M ���~�´��� � ��N º �u���u� º �u��� t ���~� �   Ñ ���Z� � t�t � ��� � �����¯� È ���

Ω
� ��P �����~� � �  ��
v

∀ x ∈ Ω
M
t > 0

M

curlE(x, t) = −µ(x)
∂H

∂t
(x, t) , curlH(x, t) = Jf (x, t) + εre(x)

∂E

∂t
(x, t) ,

� �~�   �
E ∈ IR3 � È ���~�b� t � � �   � � Ø�� t»ºDM~� � º

H ∈ IR3 � È ���~� ����Ò �~�u��� � Ø�� t»º,oaV �´���~� È �l� ��� � �����¯� È8M
Jf

� È ���~� �¡  � �
� �  �  �u���   � t � ��� º ���P���~��Ø�� t»º

E
¹ �

Jf = σE
MJ� �~�   �

σ
  �u�   � È �u��� È ���~� � �¯� º � � ���ÓÔ���� � � � ���~� � � º ��� �
o

¸



� �~�u� � � È ��� ºJ� ���~�G��� � ��Nw� �  �� �¯�r� �¬È � t �r�����¯� È ���
���~� È �¸� ��� � �����¯� È�Mi� � � �¯� È � º �  8È �Ï� � � � ttÈ � t �r�����¯� È � �
���~� � �  ��

E(x, t) = Re{E(x)e−iωt}
� � º

H(x, t) = Re{H(x)e−iωt} , x ∈ Ω, t > 0,

� �~�   �
ω > 0

º �u�~�¯��� È ���~� Ò �ÓÔ½�u� �¡  � ���~�u� �u�"M�� � º ���~� V^ 3 NäÔ � t �~� º Ø�� t»ºXÈ
E

M
H
�   � È � � ����� � � v

∀ x ∈ Ω
M

curlE(x) =
�
ωµ(x)H(x) , curlH(x) = −

�
ωε(x)E(x) .

e {½m
^ �   � M

ε(x) = εre(x) +
� σ(x)

ω

  �u�   � È �u��� È ���~� � � � � t � � ���  �� �������ÓÔZ��� �½o � �«º �ÓÔ�� º ��� Ò ���~��Ø  �È �j� ��� � �����¯�®� �
(3)¹ �

µ
� � º � ��P ��� Ò ���~� � �  �t Mr� ���J¹r� � ���
���~� � � t�t � � ��� Ò � ��� � �����¯� � �  

E
v

curl(
1

µ
curlE) − ω2εE = 0

���
Ω .

e¡|�m
� � È � � t�t �   � È��u  �Ó¹��G�~�¯�7Nw�   �ÓÔZ� � t ¹��¯�r� º~�  �� � �¯� º �������¯� È}� �  

E × ν
M �¯�¥���~�Ê¹��¯�r� º~�  ��

∂Ω
M ���¥�  �º �   ���

�  �  �ÓÔ½� � �C� �   ��� � � t �   �~�¯�7Nw�   �ÓÔ�� � t¡È � t �r�����¯� È ���
(3)
o[q �~�l�¯�r� �_�  �º �r�r���C�~�  ���� t ���

Ω
� È#º �u�~�¯��� º ¹ �

ν
o

S �u�
µ0 > 0

M
εre0 > 0

M[� � º
σ0 ≥ 0

º �u�~�¯���¸���~�G���  �� � � ¹r� t ��� �"M ���~� e¡  � � t m ���  �� �������ÓÔZ��� �"Mn� � º ���~� � �¯�7N
º � � ���ÓÔZ��� � � � ���~�8¹ �¯�	P|ÒK  �¯�r� º>� � º ��� �]MÛ� �����

ε0 = εre0 +
� σ0

ω

���~��¹ �¯�'P�ÒK  �¯�r� º � � � � t � � ���  �� �������ÓÔZ��� �½o}S �u�
� t»È �

µj > 0
M
εrej > 0

M
σj ≥ 0

� � º
εj = εrej +

� σj

ω

º �u�~�¯���P���~�P���  �� � � ¹r� t ��� �"M ���~� e¡  � � t m ���  �� �������ÓÔ���� �"M ���~�
� �¯� º � � ���ÓÔZ��� �"M,� � º ���~� � � � � t � � �Ï�  �� �������ÓÔZ��� � � � ���~�

j
��� � � ���  X� � � �����¯�

zj + αBj
o f �  ÆÈ � � � t � � ��� �"MR� � È � � t�t

�JÈ�È � � �±�~�   ����� � � � t�t ���~� È �±� �   � � �u���  �Èl�   � � �¯� È � � ��� ÈMo�V ���   � º � � ������� È ���~�±�r��� � � � � È � � �¯� È � � ��� ����Ò �~�u��� �
���  �� � � ¹r� t ��� �

µα
� � º ���~�l�r��� � � � � È � � �¯� È � � ��� � � � � t � � ���  �� �������ÓÔZ��� �

εα
v
∀ x ∈ Ω

M

µα(x) =





µ0, if x ∈ Ω \ Iα ,

µj, if x ∈ zj + αBj , 1 ≤ j ≤ m,
εα(x) =





ε0, if x ∈ Ω \ Iα ,

εj , if x ∈ zj + αBj , 1 ≤ j ≤ m.

V �Ï� � � t�t � � ���~� º � Ò �u�~�   � ��� �M�JÈ �
α = 0

M ���~�u�G���~� � �r� � �����¯�
µα(x)

� ��� � t»È ���~� � �¯� È � � ���
µ0
� � º ���~� � �r� � �����¯�

ε(x)
� ��� � t»È ���~� � �¯� È � � ���

ε0
o

q �~��� t � � �   � � Ø�� t»º�º �u�~�¯��� º
Eα

M �������~�l�   � È �u� � ��� � � � �Ï�  X� � � �����¯� È�M � È ���~� È � t �r�����¯�
��� v




curl( 1
µα

curlEα) − ω2εαEα = 0
���

Ω
M

Eα × ν = g
�¯�

∂Ω
M

e �½m

� �����
g
��Ò �ÓÔ½�u� º~� ��� � �¯�

∂Ω
o � �~�u�P���~�]�¯�r� �_�  �º �r�r���d�~�  ���� t ���

∂(zj +αBj)
M ���~�#¹Ï�¯�r� º~�  �� � �

zj +αBj
M

� Èd� t»È � º �u�~�¯��� º ¹ �
ν

MK� � º ���~� È �r���  �È��u  ���r� È
+

M
−
��� º � �M� ��� ���~� t � � ������� Ò Ô � t �~� Èd�JÈ

∂(zj+αBj)
� ÈE� �r�   � �¯� �~� º

�g  � � �¯�r� È � º �
zj +αBj

� � º��g  � � ��� È � º �
zj +αBj

  � È ��� � ���ÓÔ½� t��"M ���~�l� ��� � �����¯� È � �
(5)
�M� ��¹��   � � �  �� � t � ��� º

�JÈ � � t�t � ��ÈMv




curl( 1
µ0

curlEα) − ω2ε0Eα = 0
���

Ω \ Iα
M

curl( 1
µj

curlEα) − ω2εjEα = 0
���

zj + αBj
M � �  

1 ≤ j ≤ m
M

E+
α × ν −E−

α × ν = 0
�¯�

∂(zj + αBj)
M � �  

1 ≤ j ≤ m
M

1
µ0

(curlEα)+ × ν − 1
µj

(curlEα)− × ν = 0
�¯�

∂(zj + αBj)
M � �  

1 ≤ j ≤ m
M

ε0E
+
α · ν − εjE

−
α · ν = 0

�¯�
∂(zj + αBj)

M � �  
1 ≤ j ≤ m

M

Eα × ν = g
�¯�

∂Ω
oN



q �~��� t � � �   � � Ø�� t»º«º �u�~�¯��� º
E0

M ���
���~� � ¹ È �u� � ��� �a� t�t � � �Ï�  X� � � �����¯� È�M�È � ��� È Ø�� ÈMv




curl( 1
µ0

curlE0) − ω2ε0E0 = 0
���

Ω
M

E0 × ν = g
�¯�

∂Ω
o e y½m
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� � � �¯� È � º �   ���¸���r� ÈtÈ � � �����¯�G���~� � � ��P �   �J¹ t � �_È �JÈ�È � � � � ��� ºG� �����
(5)
� � º

(6)
  � È ��� � ���ÓÔ½� t��"Mr� � º¸� � �JÈ��Z� �7N

���¯��� �b� �  �� � t � � �   ���   ���   ¹ � �����¯� È ���
���~�l� t � � �   � � Ø�� t»º �������~�l�   � È �u� � �±� � � � ���  X� � � �����¯� È o
� E�� � � Y ��� � M
�����+N �mN ��� U4I � Y � I � � U � P
S �u�

H(curl ; Ω) = {u ∈ (L2(Ω))3 ; curlu ∈ (L2(Ω))3 }

¹��j�u� º � � � º´� �����¸��� È � È � � t,^ �  �� ����� � �´�   � º � � � º �u�~�¯��� º �~�   ��¹ �
( . , . )H(curl ; Ω) � ���~� � �  �  � È �Ï�¯� º ��� Ò �~�  ��� È�º �u�~�¯��� º ¹ �

‖ . ‖H(curl ; Ω)
o � �P  �u�   � È �u������� Ò ���~� È �  X�w�¯� � º �ÓÔ½�  ïÒ �u� � �Æ¹ �

div∂Ω
MZt �u�_� Èn� �¯� È � º �   ���~� È � �¯� �

TH− 1
2 (div ; ∂Ω) = {q ∈ (H− 1

2 (∂Ω))3 ; div∂Ω q ∈ H
− 1

2 (∂Ω), q · ν = 0
�¯�

∂Ω},

� �����
��� È � È � � t �~�  ��½º �u�~�¯��� º �~�   ��¹ �
‖ . ‖

TH−
1
2 (div ; ∂Ω)

o
q �~��Ô½� � ���   Ø�� t»ºXÈ

Eα
� � º

E0
MXÈ¢� ��� ÈX�¡� ��� Ò

(5)
� � º

(6)
  � È �Ï� � ���ÓÔ½� t��"M~� � t�t ¹Ï� È �¯� Ò ���C���

H(curl; Ω)
M~� � º

���~� º~� ��� �
g
� � t�t ¹Ï�±� ��P �u�Á���

TH− 1
2 (div ; ∂Ω)

oTf �  �È � � � �Êº~� ��� �
g

MÏt �u�T� Èb� �¯� È � º �  
ug ∈ H(curl; Ω)

È � � �
��� � � e�È � �l� o Ò~o Qo¸8S¡mpv




ug × ν = g
�¯�

∂Ω
M

‖ug‖H(curl; Ω) ≤ CΩ‖g‖
TH−

1
2 (div ; ∂Ω)

M
eä¸Km

� �~�   �
CΩ > 0

� È��¸� �¯� È � � ��� º �u���u� º ��� Ò �¯� t�� �¯�
Ω
o � ����� ���~�P� � ���u� È ���¯�BØ�� t»º

ug
M ���~� º �u���  �� ��� � �����¯��� �

���~��Ô½� � ���   Ø�� t»º
Eα

È � ��� ÈX�g� ��� Ò
(5)
� ÈC  � º � � � º ���P���~�b�   �J¹ t � � ��� � � � �¯� È � È � È � � Ø~� º ��� Ò

Eα
È � � ����� � � v





curl( 1
µα

curl Eα) − ω2εαEα = − curl( 1
µα

curlug) + ω2εαug
���

Ω
M

Eα × ν = 0
�¯�

∂Ω
o e N½m

Qjt»È � � �����Á���~� È � � �}� � ���u� È ���¯�«Ø�� t»ºDM ���~� º �u���  �� ��� � �����¯�>� �
E0

È � ��� È��¡� ��� Ò
(6)
� ÈT  � º � � � º ���¸���~� �¯�~� ��� � �

� �¯� È � È � È � � Ø~� º ��� Ò
E0
È � � �
��� � � v





curl( 1
µ0

curl E0) − ω2ε0E0 = − curl( 1
µ0

curlug) + ω2ε0ug

���
Ω

M

E0 × ν = 0
�¯�

∂Ω
o e H½m

	��d� �¯�  �È � M_P �~� � ��� Ò
ug

MJ� �r� t �
Eα
� � º

E0
�   �b��� �¯� � �  �º~� � � � � �����

(8)
� � º

(9)
  � È �Ï� � ���ÓÔ½� t��"M~� � º �u���  �� ���~�

���~�l�r� �|È � �M� t Ø�� t»ºXÈMv
Eα := Eα + ug , E0 := E0 + ug .

eXIMx½m
H



q �~� È ��Ô½� � ���   Ø�� t»ºXÈ
Eα
� � º

E0
� � t�t ¹�� È �¯� Ò �������

H = {u ∈ H(curl; Ω) ; u× ν = 0
�¯�

∂Ω } .

f �  
g
Ò �ÓÔ½�u�����

TH− 1
2 (div ; ∂Ω)

MZ� � º ���~�   � � �   �
ug
� ��P �u� �JÈ ���

(7)
M ���~� � � ��P}� �  �� � t � �����¯� �JÈ�È � � � � ��� º�� �����

(9)
� �¯� È � È � È � � Ø~� º ��� Ò

E0 ∈ H
È � � � ��� � � v

∫
Ω

1
µ0

curl E0 · curl v dx− ω2
∫
Ω ε0E0 · v dx =

−
∫
Ω

1
µ0

curlug · curl v dx+ ω2
∫
Ω ε0ug · v dx ∀ v ∈ H .

eXIKI m

q �~� � � ��PG� �  �� � t � �����¯� �JÈ�È � � � � ��� º´� �����
(8)
� È�º � Ø~�~� º �������~� È � � � �_�M�½o

f ��� º
Eα ∈ H

È � ��� È��¡� ��� Ò~v
∫
Ω

1
µα

curl Eα · curl v dx− ω2
∫
Ω εαEα · v dx =

−
∫
Ω

1
µα

curlug · curl v dx+ ω2
∫
Ω εαug · v dx ∀ v ∈ H .

eXIML½m

� ¨�§<­X���Å¤������ � ��� 
 ����
 �#
�� ����� ����
�� � �
	�� ��� 
 
���� 
$� ����� � ��
 � � ��� 
�� � ��� ����� � ���
k2 = ω2µ0ε0

� ��� ��	�
$� �������
��� � �

(11)
� ��� ��� � ������
 � ����� ���%�����

q �~�Á� � � È ���u� � � � � º �r�r�����~�u�~� È�È � � ���~� È � t �r�����¯��� �
(12)

� � t�t ¹�� È ��� � � Ø�� º �������~�9�~� � � È �X¹ È � � �����¯� e�È � �
q �~� �   � �

3.1
mpo

� E � FHG�� ��� � ����� I � � Y ��� � M�� � Y � U�Y � � Y �dM ��� �¡N G � N � K�U ��� U4I � Y � I�� � U �mP
� � � �¯� È � º �   ���G���r� È � �   � � � �JÈ��Z� �r���¯��� �C� �  �� � t � �����   � º � � � º ¹ � ^zoZQj�P���   � M Ñ o�WÏo3Y � Ò � t ��� È W5`}o�Y � t P �xÔ
Q y<S�� �   ���~� È ��� ºJ� � � ���   ���   ¹ � �����¯� È �������~�b� t � � �   � � Ø�� t»º�º �~�b���}���~�T�   � È �u� � �l� � � � ���  X� � � �����¯� È oaS �u�]� È Ø  �È �
�����   � º � � � È � � � �JºXº �������¯� � t �~�¯� � �����¯� � � º«º � Ø~�r�������¯� ÈMo
S �u�

{γn}0≤n≤m

¹�� � È �u��� �}� � � � t � ��� �¯� È � � ��� È�� �����
Re(γn) > 0

M�� �  
0 ≤ n ≤ m

o qa� �r� �M� t�t��"M

{γn}0≤n≤m
� � t�t ¹��   � t � ��� º ���j�u�����~�   ���~� È �u�

{µn}0≤n≤m
�   ���~� È �u�

{εn}0≤n≤m
oif �  E� � � Ø � � º

1 ≤ j0 ≤ m
M

t �u�
γ
º �u�~�¯�������~� � �r� � �����¯� º � Ø~�~� º �JÈMv

∀ x ∈ IR3 M

γ(x) =





γ0, if x ∈ IR3 \ Bj0 ,

γj0 , if x ∈ Bj0 .

S �u�
1 ≤ l ≤ 3

o � � º �u�~�¯���Ú¹ �
φl

���~� È � t �r�����¯�
���P���~�b�   �J¹ t � �
v




div (γ(x) gradφl(x)) = 0 for x ∈ IR3 ,

φl(x) − xl → 0 as |x| → ∞ .

Q�Èl� �u�������¯�~� º ��� Q y<STM ���~�P� � � È ���u� � � � � º �r�r�����~�u�~� È�È � �
φl
�M� �<¹��P� È � � ¹ t � È �~� º�e ���®���~�   � � tn�JÈl� � t�tn�JÈ ���

���~� � � � � t � �G�M�JÈ � m ¹ � � È ��� Ò�È ��� ÒKt � t � � �   �Ï�¯���u����� � t»È � ����� È �r��� � ¹ t���� �~� È �u� º �u� È ������� Èle�Q�IM{�STM,Q�IM��S¡mpo � �~�u�¸���~�
�¯�r� � �  �º �r�r���l�~�  ���� t ���

∂Bj0

M ���~��¹��¯�r� º~�  �� � �
Bj0

M � È�� t»È � º �u�~�¯��� º ¹ �
ν

MU� � º ���~� È �r�Ï�  �È��u  ���r� È
+

M
−

IMx



��� º � �M� �������~� t � � ������� Ò Ô � t �~� ÈT�JÈ
∂Bj0

� È�� �r�   � �¯� �~� º��g  � � �¯�r� È � º �
Bj0

MR� � º´�¡  � � ��� È � º �
Bj0

  � È ��� � ���ÓÔ½� t��"M
���r� È �   �J¹ t � � ��� È��M� t �   ���¯���u����� � tÛ���M�
� t»È ��¹Ï�   � � �  �� � t � ��� º �JÈ � � t�t � ��ÈMv





div (γ0 gradφl) = 0
���

IR3 \ Bj0

M

div (γj0 gradφl) = 0
���

Bj0

M

φ+
l − φ−l = 0

�¯�
∂Bj0

M
γ0
γj0

(∂φl
∂ν

)+ − (∂φl
∂ν

)− = 0
�¯�

∂Bj0

M

φl(x) − xl → 0
�JÈ

|x| → ∞
o

eXIM{½m

q �~� � �r� � �����¯�
φl
º �u���u� ºXÈ ����� È �¯� t�� �¯�

γ0
� � º

γj0

���   �¯� Ò �%���~�   � �����
c = γ0

γj0

o ^ �   � M ���~� � È�È �u����� � t
�JÈ�È � � �r�����¯�G� È ��� � �_���~� � �¯� È � � ���

c
�M� �r�~�¯�t¹Ï��ÕM�   �±�  _� �~� Ò�� ���ÓÔ½�   � � t ��� � ¹��  Mo � ���������r� È_�JÈ �Ï� � �   � ����� M�� �

º � Ø~�~� e �JÈ ��� Q y<S¡m ���~�b�Ï� t �   �ÓÕ � �����¯�9���u� È �  �M
M j0(c)

M � � ���~�����r�~� � � Ò �u�~�u��� �
Bj0

�JÈ � � t�t � ��ÈMv
∀ 1 ≤ i, l ≤ 3

M

M j0
il (c) = c−1

∫

Bj0

∂φl

∂xi
dx .

eXIu|�m
f � t�t � � ��� Ò Q y<STM ���~�l���u� È �  

M j0(c)
� È,È����P� �u�   � �!MR� � º � È � �   ���~�  �� �   ����� È �����ÓÔ½� º � Ø~�r������� �

c ∈ IR?
+

o
� ¨�§<­X���Å¤��S¥ � � ��� 
 ��� � 
 � � 
$��


Bj0

� � � � ����� � ������������� � ���#� ���%��� � 
���� ���
M j0

� ����� ��� 
 ����� � � � 
 	 ��� � ���%�#
 


�� "����	��

��� �

M j0(c) =
3

2c+ 1
vol(Bj0)I3 ,

� � 
�� 

I3

� � ��� 

3 × 3

�%�	
�� ����� 
!�!� ���������

S �u��� È �����   � º � � � Mr� �  
x 6= z ∈ IR3 M ���~� È �M� t �  ]� �r� � �����¯�

Φk(x, z) =

� � k|x−z|

4π|x− z|
,

� �����
���~� � �¯� È � � ���
k
º � Ø~�~� º �JÈ ��� h � ���  �P

3.1
o 	��E� �¯�  �È � M

Φk � ÈC� � �¡  � � È � �¯� ��� �   � �u� & È]� �r� � �����¯� � �   ���~�
^ � t�� �~� t �ïÕ±�¯�Ï�   � ���  

∆ + k2 M � o � o M ��� È � ��� È Ø�� ÈMv
(∆ + k2)Φk(·, z) = −δz

���
IR3 .

S �u�C� È �~� �Äº � Ø~�~�l���~� ��� �   � � Ô � t �~� º´� �r� � �����¯�
G(x, z)

M~� �  
x 6= z ∈ IR3 M~�JÈ

G(x, z) = −µ0(Φ
k(x, z) I3 +

1

k2
D2

xΦk(x, z)) ,

� �~�   �
D2

x

º �u�~�¯��� È ���~� ^ � È�È � � � Ma� � º
G(x, z)

� È�� � �¡  � � È � �¯� ��� �   � �u� & È � �r� � �����¯� � �   ���~� � ¹ �¯�	P|ÒK  �¯�r� º �
� t � � �   � � �   �J¹ t � �
v

curlx (
1

µ0
curlxG(x, z)) − ω2ε0G(x, z) = −δzI3 .

q �~���¯���   � ���  
curlx

� �r� t ��� È �~�   �b��� ��� �   � � � È�M~� � t � � �7Nä¹ � N � � t � � � o
S �u�j� È �~� �5  � � �¯� È � º �   ���~���r� �|È � �M� t Ø�� t»ºXÈ

Eα
� � º

E0
º � Ø~�~� º ���   �¯� Ò �9���~�6Ô½� � ���   Ø�� t»ºXÈ

Eα
M
E0
�g  � �

(10)
oTQjt ���~�¯� Ò � ���~� È �6Ô½� � ���   Ø�� t»ºXÈ�M��JÈj� � t�ta�JÈ

ug
Ò �ÓÔ½�u�9���

(7)
M � � Ô½�8¹Ï� �u� º � Ø~�~� º �¯� t�� ��� ��� � ��P«È �u� È �

IKI



�¯�
∂Ω

M � t�t ���r��� �}  � Ò � t �   ��� �9  � È � t � È �u� È �   �}��� � �
ug

M
Eα

M
E0
�   � ���%Ø~�r����� t��BÈ�� ���¯���!Ô½� � ���   Ø�� t»ºXÈ�e¡� �~�u�

g
� È

���%Ø~�r����� t��¬È�� �Z�¯��� m]� � º ���~�   � � �   �l���~�b���  ��
( 1
µα

curlEα − 1
µ0

curlE0)|∂Ω
� È ���%Ø~�r����� t���È�� �Z�¯��� o

q �~� �¡  � � � � �  �P � � ���r� È � � ���   � È ���~� ��� ���   � È � t ���   �¯��� È � º ��� Q y�S o � �   � �M� t�t ¹Ï� t � � ���r� Èj  � È � t � � �r� � �
� È � � ¹ t � È �~� È_� � �JÈ��Z� �r���¯��� �]� �  �� � t �z� t�t � � ��� Ò ��� È ��� ºJ� ���~�]���   ���   ¹ � �����¯�

( 1
µα

curlEα−
1
µ0

curlE0)×ν|∂Ω
M

�������~�l� � � Ò �u����� � t ¹��¯�r� º~�  �� �   �¯� �±� � ���~� � �  �t � � ���~��� t � � �   � � Ø�� t»º�º �~�l���}���~�l�   � È �u� � �±� � � � ���  X� � � �����¯� È o
� ¯¡¨L���z¨|§³¤ �£��� 
$�

(2)
� 
 � � ��� � 
�
���� ��� �

k2 = ω2µ0ε0
� 
 � ��	�
�� ��� �$� ��� � �

(11)
� � � � � � � � ��
 � ��� � ���%�����

� � 
�� 
 
 ��� �$���
α0 > 0

������� ��� � � � "���� 
�� � � ��� � ����������

g ∈ TH− 1

2 (div ; ∂Ω)
� ��� � � � 


0 < α < α0
� ��� 


� � � � � � ��
�� ��� � 
 � ��� � ��
��
(5)

� ��� � � � ����� 
 � � 
 ��	 � � ��� � ���%����� � � 
 � ��� ��� ��� �
α0

�	
���
$� � � � �
{Bj}1≤j≤m

�

Ω
�
{µj}0≤j≤m

�
{εj}0≤j≤m

�
ω
� ��� �

d0
� � � � � � � ��� 
���� � � 
 ��� �	
 ��
�� �	
$� � � � ��� 
������ � ���

zj
�
1 ≤ j ≤ m

� � 
$�

Eα
�	
�� � � 
 ��� 
 � � � ��� 
 � � 
�� 	 � �$��� � ���%��� � �

(5)
����� �!� 
 �

E0
� 
 ��� 
 � � � ��� 
 � � 
���	 � �$��� � ���%��� � ����� 
 � � � � � � ��


� ��� � 
 � � � � � 
$�
(6)

����� � 
 ��� ��� ����� " � � ��� 
 �$����

g ∈ TH− 1

2 (div ; ∂Ω)
��� ��� � � 


z ∈ ∂Ω
� � 
 ����
�� � �	� 
��

( 1
µα

curlEα − 1
µ0

curlE0)(z) × ν(z)

− 2

∫

∂Ω
curlz(Φ

k(x, z)( 1
µα

curlEα − 1
µ0

curlE0)(x) × ν(x)) × ν(z) dσx =

2α3ω2
m∑

j=1

(
µ0
µj

− 1)G(zj , z) × ν(z)M j(
µ0
µj

)(curlE0)(zj) +

2α3ω2ε0

m∑

j=1

( 1
εj

− 1
ε0

)((curlxG)(zj , z))
T × ν(z)M j(ε0εj

)E0(zj) + O(α4) .

eXIM�½m

� � 
 � 
����
O(α4)

� � � � � ���	
�� � 

C α4 � � � � � ��� � � 
 � �

z
� � � 
 � � � ������� 
 � �����$� ��� �

C
�	
 ��
�� � � ���

{Bj}1≤j≤m
�

Ω
�
{µj}0≤j≤m

�
{εj}0≤j≤m

�
ω
�
‖g‖

TH−
1
2 (div ; ∂Ω)

� ��� �
d0
� � � � � � � ��� 
���� � � 
 � � � 
���
�� � 
�� � � � ��� 
 � ����� ���

zj
�

1 ≤ j ≤ m
�

V � �M� ���~� � ¹�� È ��� � � Ø�� º ����� �   ��� � � t �   ��� � �C���~� � �¯� È � º �   � �����¯� � �
k2 È � � ����� � �C���~� � � ��PG� �  �� � t � �����¯�

(11)� �JÈ±� �r�r�����~� È � t �r�����¯�>� Èz� t»È � � � � �Ï�¯���~� È � È�t � �Jº ��� Ò ���´���~��� � � È ���u� � � � � º �r�r�����~�u�~� È�È � � ���~� È � t �r�����¯��� �
���~� � � ��PG� �  �� � t � �����¯�

(12)
o

V �
(15)
� � º �~�   � ��� ���  �M ���~� È �r���  �È��u  ���r� �

T
� º �u�~�¯��� È ���~�z�   � � È �Ï� È � oTq �~� � � t�t � � ��� Ò´  � È � t �T� Èl��� �¯� È ��N

���~�u� � ��� �Eq �~� �   � �
3.1
� � º � È �   � È �u����� º ��� Q y<S �JÈ�� ¹ �JÈ � È � �  �È � � � � �r�   � � � ��� ���±����Ô½�  �È ���¯�
��� � �r�r�����~� ÈMo

�6�4����²�²£­X�zÀÅ¤ ���
� 
 � � � � ���������	
$� ��� 
 � � ��� � � ������� � � � � � 
���� 
��
3.1

� � � � � 
�� � � 
 � 

w

��� 
 ��� � � ������
�� � ����


� ��� � 
�� ��� � � ���%��� ������� ��� � ���

curl(curlw) − k2w = 0
� �

W ,
eXIMy½m

� � 
�� 

W

� � ��� � � 
�� ��
�� " � � ����� �#�#� � �
Ω
� � � 
�� 
!
	��� ����� � � �����$� ��� �

α0 > 0
�	
���
������ � " ���

{Bj}1≤j≤m
�
Ω
�

{µj}0≤j≤m
�
{εj}0≤j≤m

�
ω
� ��� �

d0
� � � � ��� �	
 ��
�� �	
$� � � �

w
� � � ����
�� ����� ���

zj
�
1 ≤ j ≤ m

� ��� � ������� ��� � �

� ��� � " ��� 
$�
g ∈ TH− 1

2 (div ; ∂Ω)
� � � � � 


0 < α < α0
� ��� 
 � ��
 � �%� ��� 
 
������

Eα
�����

E0
�$� ��� ����
��

∫

∂Ω
curlEα × ν · w dσ −

∫

∂Ω
curlw × ν · (ν × (Eα × ν)) dσ =

α3
m∑

j=1

ω2ε0µ0(
ε0
εj − 1)

[
M j(ε0εj )E0(zj)

]
· w(zj) +

α3
m∑

j=1

(
µ0
µj

− 1)
[
M j(

µ0
µj

) curlE0(zj)
]
· curlw(zj) + O(α4) .
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� � �   � � �¯� � �   �~� º ���
���r� È � �   � � �����
���~� º � È �u  �u���ÓÕ � �����¯�9� � ���~� � �  �� � t � �����¯�
(12)
o

� E�� � N�� Y �*P � I ��� �+N
f �  �È � � � t � �g� ��� Ò ���~�Á�   � È �u��� � �����¯� Ml� � �JÈ�È � � � M �������r� È¬È � � �����¯� � � º �������~� � � t�t � � ��� Ò �¯�~� È�M ��� � �
� �¯� �
� � ���  X� � � �����¯�®�   � È �u���l���Á���~� º � ��� ���®� È�� ��� t�� �~� ºJ  �¯� o±f �   ���~�}��� � �   � �M� tat � �M� t �ÓÕ � �����¯� È8M,� � � � t�t � È � ���~�
�JÈ��Z� �r���¯��� �]� �  �� � t �

(17)
� � º ���~�   � � �   �C���~� º � È��u  �u����Ø�� t»º��JÈ�È � � � � ��� ºP� �����G���~� È � t �r�����¯�G� � ���~� � �  �� � t � �����¯�

(12)
o[q �~� º � È��u  �u���ÓÕ � �����¯� � � ���r� È_� �  �� � t � �����¯�9� È��¯� �r���.Ô½� º � ����� � Ø~�r������� t � � �u��� � �u���~� º ¹ �JÈ � º �¯� � � � È �
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Tα
� � ���~� º � ��� ���

Ω
� È±���Jº �G�r�¥� � ���u�   � �~� ºJ  � ��� È � � � �
�_� � ��� � � � �¯� �����r�~� � � Ò �u�~�u��� �

� �  �  � È ���¯� ºXÈ ��� �¬º � È ����� � � � � t�t � � �����¯�)� � ���u�   � �~� ºJ  � � �
Tα
o Ñ �   ���   � � � È � t��"M ���~� � � t�t � � �����¯�¥� � ���u�   � �~� ºJ  �

�JÈ�È � � � � ��� º)� ����� � �Â���r�~� � � Ò �u�~�u��� �Â� �xÔ½�  �È �u�����   � t�� ���~� Ò � � � �u�  �� � � ���~�¸���r�~� � � Ò �u�~�u��� �½o � ����� È � � � �
� �¯� � �  �� ��� ÒÂ� � È ��� �

Ω
MC� � �   � � ¹ t � ���)�����   � º � � � � º � È��u  �u��� � �  �� � t � �����¯� � �~� È � ��� �   � ���JÈ�È � � ¹ t�� � È

� �JÈ � t�� �Ï�  X� �  �� � º ¹ �Bº � � � � ��� È ��� Ò � �¯� � �~�u���   � Ò �u�~� �¯� È ������� ÒK  � t ���  �� � � ���~� � �  �� � t � �����¯� ������� ��È � � � �
�~� � � Ò �u�~� �¯� È ������� ÒK  � t ���  ��_È o
f �  C� ���u�   � �~� ºJ  �¯�

K
M�t �u� � ÈQº �u�~�¯����¹ �

%K
���~� º � � � �u���   � � ���~� t �  ïÒ � È � È �r�~�   �T��� �ut � º � º ���

K
MZ� � º ¹ �

hK

���~� º � � � �u���   � �
K
olq �~� �JÈ �Ï� � ��N   � �����´� �

Tα

� ÈÆº � Ø~�~� º>�JÈj� � t�t � ��ÈMv
hTα = supK∈Tα

hK
o�S �u�b� Èb�M� t�t

{T n
α }n≥1

��È � ���~�u� � �j� � �   � � � Ò � t � �����¯� È � � ���~� º � ��� ���
Ω

M�� �~�   �
T n

α

� È�º � È��u  �Ó¹�� º��JÈ
Tα
� ¹Ï�iÔ½� MZ� �   � �¯� �

n
o

Q�È � È � � t Mr� � �JÈ�È � � ����� � �C���r� È,È � ���~�u� � �l� È�  � Ò � t �   ���
���~� È �u� È �b��� � �����~�   ��� � � È � ÈT�}� �¯� È � � ���
c > 0

È � � �
��� � � v

∀ n, sup
K∈T n

α

hK

%K
≤ c ,

� � º�� �   � �iÔ½�  �M

lim
n−→∞

hT n
α

= 0 .

V �[� È � � �Ï�   � � ���_���±�~�¯��� � �T���~� º �u���u� º �u� � �T� �
hT n

α

�¯�
α
���G���~� È �u� È �C��� � � � �j�~� � º ���z� � Ô½� � �   � � � Ò � t � �����¯�
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α
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Ω
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α
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S �u�

Pd

¹Ï�[���~� È � �¯� �n� � �Ï� t�� �~� � � � t»È � �Xº � ÒK  � � t � È�È ��� � � �   � ��� � t ���
d

MK� � º
P̃d

¹Ï�a���~� È � �¯� �n� � �~� � � Ò �u�~� �¯� È
��� t�� �~� � � � t»È � ��º � ÒK  � �

d
Mr� �����

d
� ��� È �����ÓÔ½�l������� Ò �  Mo

IM{



^ �¯� È � º �   ���~� � � t�t � � ��� Ò Ô½� � ���   � � t+È �X¹ È � �¯� � Èze�È � � kTs)ºrsut � � Q LKx<S¡mpv
S1 = {u ∈ (P̃1)

3 ; u · x = 0} , R1 = (P0)
3 ⊕ S1.

� � �JÈ�È � � � � ��� � �����
H
���~� º � È��u  �u��� È � �¯� �

Hh = {uh ∈ H(curl; Ω) ; Re(uh)|K , Im(uh)|K ∈ R1 ∀K ∈ Tα , uh × ν = 0
�¯�

∂Ω}.

Q Ô½� � ���   Ø�� t»º
Eh

� � ���~� È � �¯� �
Hh

� È]�]  �������u�
���9� �¯� �
���u�   � �~� ºJ  �¯�
K
�JÈ±e�È � �l� o Ò~o Q�IMN�S¡mpv

Eh =

6∑

e=1

Ee
h (λi∇λj − λj∇λi) ,

eXIMN½m
� �~�   �

• e
� È �¯�~�l� � ���~� È � � � º%Ò � È � �

K
� ������Ô½�   ��� � � È

si M
sj M

• Ee
h

� È ���~� º � ÒK  � �±� � �g  � � º � ���JÈ�È � � � � ��� º�� �����
e

M

• λi

� È ���~�Æ¹ �  ��J� �u���   � �±� �Z�  �º ��� � ��� �JÈ�È � � � � ��� º´� ����� ���~��Ô½�   ��� �
si M�� � º

• λi∇λj − λj∇λi

� È ���~� È � � �Ï� � �r� � �����¯� �JÈ�È � � � � ��� º´� ����� ���r� È � º%Ò �
e
e �   ���u����� º��g  � �

si ��� sj mpo
qa� �r� �M� t�t��"M

Hh

� È�� ^ � t ¹Ï�   � È � �¯� � � �~�u� �u� º � � � º
� �����
���~�l�~�  �� � �
H
o

S �u��� È �~� �5� �¯� È � º �   ���~� º � È��u  �u��� � �  �� � t � �����¯� �JÈ�È � � � � ��� º�� �����
(12)

M4º � Ø~�~� º �JÈ]� � t�t � ��ÈMo
f ��� º

Eh ∈ Hh
È � � �
��� � � v

∫
Ω

1
µα

curl Eh · curl vh dx− ω2
∫
Ω εαEh · vh dx =

−
∫
Ω

1
µα

curlug · curl vh dx+ ω2
∫
Ω εαug · vh dx ∀ vh ∈ Hh .

eXIMH½m
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(17)
��� ���~�P�   � È �u��� �¡  � � � � �  �PÏo¸V �_� �

º �u�~�¯����¹ �
p = (p1, p2, p3)

T ���~� � �u�����   � � ���~�´� � ���  X� � � �����¯� M ¹ �
M
���~� �   � È��M� t � º �¸�Ï� t �   �ÓÕ � �����¯�%���u� È �  
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(
µ0
µ1

− 1)M1(
µ0
µ1

)
M ¹ �

N
���~� �   � È��M� t � º �P�Ï� t �   �ÓÕ � �����¯�)���u� È �  

(ε0ε1
− 1)M1(ε0ε1

)
� � ���r� È � � ���  X� � � �����¯� ME� � º

�~� ÒKt � � �C���~� �JÈ���� �r���¯��� �M� t�t��¬È���� t�tU  � ��� ��� º �   ���  �� ���
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M ��� � � t�t � ��È ��� � � v
Γ :=

∫

∂Ω
curlEα × ν · w dσ −

∫

∂Ω
curlw × ν · (ν × g) dσ ≈

α3k2 (N E0(p)) · w(p) + α3 (M curlE0(p)) · curlw(p) ,
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curl(curlw) − k2w = 0
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Mi� ��� � Ô½�
Eα = Eα + ug
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� È � � �   � È�È � º ���
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α := Eh + ug
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E
(1)
0 (x1, x2, x3) =




0

0� � kx2


 , E

(2)
0 (x1, x2, x3) =




� � kx3

0

0


 , E

(3)
0 (x1, x2, x3) =




0� � kx1

0


 .

f �   ���~� � �  �  �u���
g(1) = E

(1)
0 ×ν

M½� �C�r�r�
g := g(1) ��� (7)

� � º�� � � �r�r����¹ �
(19)
���~� � �  �  � È �Ï�¯� º ��� Ò�º � È��u  �u���

� t � � �   � � Ø�� t»º�º �u�~�¯��� º �~�   ��¹ �
Eh

α,(1)

odk � � � MJ� � � �¯� È � º �   ���~�l��� È �#Ô½� � ���   Ø�� t»ºXÈ

w(1,1)(x1, x2, x3) =




0

0� − � kx2


 , w(2,1)(x1, x2, x3) =




� − � kx2

0

0


 , w(3,1)(x1, x2, x3) =




0

0� � kx2


 ,

���
�  �º �   ���P�.Ô � t � � ��� �g  � � ���~� t � � ��Nw� � � º�È � º ��� �
(20)
���~�b���  ��_È

Γ(j,1)
M
1 ≤ j ≤ 3

M�º � Ø~�~� º �JÈ v

Γ(j,1) :=

∫

∂Ω
curlEh

α,(1) × ν · w(j,1) dσ −

∫

∂Ω
curlw(j,1) × ν · (ν × g(1)) dσ .

e LJI m
Qjt»È � Md� �   ���~� � �  �  �u���

g(2) = E
(2)
0 × ν

Md� � � � � �r�r���¬¹ �
(19)

���~� � �  �  � È ���¯� º ��� Ò©º � È��u  �u����� t � � �   � � Ø�� t»º
º �u�~�¯��� º

Eh
α,(2)

M~��� ���   �r�r������� Ò
g := g(2) ��� (7)

o � �����
���~�b��� È �,Ô½� � ���   Ø�� t»ºXÈ

w(1,2)(x1, x2, x3) =




� − � kx3

0

0


 , w(2,2)(x1, x2, x3) =




0� − � kx3

0


 , w(3,2)(x1, x2, x3) =




� � kx3

0

0


 ,

� �����~�u� �.Ô � t � � ��� �¡  � � ���~� t � � ��Nw� � � º�È � º �±� �
(20)
���~�l���  ��_È

Γ(j,2)
M
1 ≤ j ≤ 3

MXº � Ø~�~� º �JÈ � � t�t � ��ÈMv

Γ(j,2) :=

∫

∂Ω
curlEh

α,(2) × ν · w(j,2) dσ −

∫

∂Ω
curlw(j,2) × ν · (ν × g(2)) dσ .

e LKL½m
IM�



V � ���~� È � � � � � �"MR� �   ���~� t �JÈ � � �  �  �u���
g(3) = E

(3)
0 × ν

MR� � � � � �r�r���6¹ �
(19)
���~� � �  �  � È �Ï�¯� º ��� Ò¬º � È��u  �u���

� t � � �   � � Ø�� t»º�º �u�~�¯��� º ¹ �
Eh

α,(3)

M~��� ���   � ��P ��� Ò
g := g(3) ��� (7)

oak � � M~� �l� È � �JÈ ���~�b��� È ��Ô½� � ���   Ø�� t»ºXÈ

w(1,3)(x1, x2, x3) =




0� − � kx1

0


 , w(2,3)(x1, x2, x3) =




0

0� − � kx1


 , w(3,3)(x1, x2, x3) =




0� � kx1

0


 ,

� �   �.Ô � t � � ����� Ò��¡  � � ���~� t � � ��Nw� � � º�È � º �l� �
(20)
���~�l���  ��_È

Γ(j,3)
M
1 ≤ j ≤ 3

M�º � Ø~�~� º9�JÈ � � t�t � ��ÈMv
Γ(j,3) :=

∫

∂Ω
curlEh

α,(3) × ν · w(j,3) dσ −

∫

∂Ω
curlw(j,3) × ν · (ν × g(3)) dσ .

e LK{½m
Y[�¯� �

Γ(j,i)
M
1 ≤ i, j ≤ 3

M � È_�M� t�t � º ���~� � � �!
$� �%� ��� � � � � � ����
 ��
�� ��� � 
���
�� � o � � � È ��� Ò ���~� � �  �� � t �
(20)

M
��� � � t�t � ��È]�g  � �

(21)
M
(22)

M�� � º
(23)
��� � � v





Γ(1,1) ≈ α3k2N33 + α3k2M11 ,

Γ(2,1) ≈ α3k2N13 − α3k2M31 ,

Γ(3,1) ≈ (α3k2N33 − α3k2M11)
� 2 � kp2 ,

Γ(1,2) ≈ α3k2N11 + α3k2M22 ,

Γ(2,2) ≈ α3k2N21 − α3k2M12 ,

Γ(3,2) ≈ (α3k2N11 − α3k2M22)
� 2 � kp3 ,

Γ(1,3) ≈ α3k2N22 + α3k2M33 ,

Γ(2,3) ≈ α3k2N32 − α3k2M23 ,

Γ(3,3) ≈ (α3k2N22 − α3k2M33)
� 2 � kp1 ,

e L |�m

� �~�   �T���~�����  ��_È
Mij
� � º

Nij
M
1 ≤ i, j ≤ 3

Mr�   �   � È ��� � ���ÓÔ½� t�� ���~� � ��� � � ���u��� È � �
M
� � º

N
oEq �~�   � t � �����¯� È

���
(24)

� t�t � � � È ��� º �   �ÓÔ½� � � � �r�   � � � ��� �����¯�%� � ���~�   � È��M� t � º ���u� È �  
α3k2M

�  
α3k2N

º �u���u� º ��� Ò �¯�
� �~�u���~�  

ε1 = ε0
�  

µ1 = µ0
o�V � �w�¯� � M ���~� � �Z� � � ���u��� È

(α3k2M)ij
�  

(α3k2N)ij
M
1 ≤ i, j ≤ 3

M]�   �
�J¹r� � ���~� º��g  � � ���~� � � �JÈ �   � � �u��� È

Γ(1,i)
M
Γ(2,i)

M
1 ≤ i ≤ 3

o
	 � � � � � � �r�   � � � ��� �����¯��� � ���~� ���u� È �  

α3k2M
�  
α3k2N

� È�º �u���  �� ���~� ºDMÛ� � �M� � t � �M� t �ÓÕM�}���~� � �u�����  
� � ���~��� � ���  X� � � �����¯�Ù¹ � � È ��� Ò ���~� � � �JÈ �   � � �u��� È

Γ(3,i)
M
1 ≤ i ≤ 3

o]q �r� Èj� � t�ti� t��_�M�|È ¹������ È�È �Ó¹ t � � �  j� �   N
� � ���¬Ô � t �~� È � �

k
� � º´� �~�u�����~�b��� t �   �ÓÕ � �����¯�
���u� È �  

M1(µ0

µ1
)
M �  

M1( ε0
ε1

)
  � È ��� � ���ÓÔ½� t��"M � È ��� È �����ÓÔ½� º � Ø~�r����� M

� � � � t��´� �~�u�
µ0 > 0

M
µ1 > 0

M
ε0 > 0

M�� � º
ε1 > 0

o
� �b� �¯� È � º �   ��� Ò ���~�   � � �   �a���   � �*¹��¯�r� º~�  ��l� �  �  �u��� È�MK� � º �r���~�[��� È �/Ø�� t»ºXÈ�M�� � º �u���  �� ���~��¹��¯��� � � � �r�   � � N

� ��� �����¯� � � ���~�   � È��M� t � º ���u� È �  ±e
α3k2M

� �~�u�
ε1 = ε0

M �  
α3k2N

� �~�u�
µ1 = µ0

m � � º
� � � �r�   � � � ��� �����¯�
� � ���~� � �u�����   � � ���~�l� � ���  X� � � �����¯� o
q �~� � � �JÈ �   � � �u��� È ���

(24)
º �b�~�¯� � t�t � � � È �~� � �.Ô½�   ��� º �u���  �� ���~�����~� � �r�   � � � ��� �����¯� È � � ���~�   � È �M� t � º

���u� È �  �È
α3k2M

� � º
α3k2N

�������~� Ò �u�~�   � tÛ�M�JÈ � M~� �~�   ��¹Ï�¯���
µ1 6= µ0

� � º
ε1 6= ε0

o
� �~�u�G���~�j��� t �   �ÓÕ � �����¯�����u� È �  �È

M1(µ0

µ1
)
� � º

M1( ε0
ε1

)
�   � P �~� � � Mr� � � �r�   � � � ��� �����¯�
� � ���~� È �ÓÕM�T� � ���~�

� � ���  X� � � �����¯� �M� �B¹Ï� º �u���  �� ���~� º �¡  � � �¯�~� � � ���~� � � �JÈ �   � � �u��� È
Γ(1,i)

M
1 ≤ i ≤ 3

M �.Ô½�u� � �
µ1 6= µ0

� � º
ε1 6= ε0

MJ� ����� � �d� �¯�  �È �
µ0 > 0

M
µ1 > 0

M
ε0 > 0

M
ε1 > 0

o
IMy



� E � D�� R � �>F ��� � Y � � K �
q �~�#Ñ \bWZV�^)� tÓÒ �   ����� � � È � È�È �u����� � t�t��}�j� �u���~� º � �  a� � �   �¯� ���   �ÓÕ ��� Ò ���~�   � � Ò �]� ����È � t � N �Jº Ð��¯�����[�¯���   � ���  MoEV �
È � Ò � � t �   � � � È�È ��� Ò �   �J¹ t � �_È�M ���r� ÈT� �u���~� º � È�Ò �u�~�   � t�t�� � È � º � �   � È ��� ��� ����� Ò ���~�±��� º �ÓÔZ� º � � t �¡  � ���~�u� � ��� È � �
� � t ����� t ��Nw� �  �� �¯�r� ��È � Ò � � t»È Q LK{�S odS �u�C� È �   � È �u���,¹   ����� � ���~� � �r�   � �¯� � � � t�t � � ��� Ò Q {<STMDQ�IKIFS o[^ �¯� È � º �  T��È � t � N
�Jº Ð��¯�����]�¯�Ï�   � ���  

A
� �����´�u� Ò �u�LÔ � t �~� È

λ1 ≥ λ2 ≥ ...
Mr�JÈ�È � � � � ��� º�� �����´�u� Ò �u�LÔ½� � ���  �È

v1
M
v2

MRo�o�o MZ  � È ��� � ���ÓÔ½� t��½o
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λn+1
M
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M
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A
oGQjt ���   � � ���ÓÔ½� t��"M
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M
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M[o�o�o¸� �¯� t»º ¹�� Ô½�  ��<È���� t�t M ¹Ï� t � � ���~�P�~�¯� È � t �.Ô½� t � � ���~�
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M
vn+2
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A
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M�� � Ò �u� v

∫

∂Ω
curlEα × ν · w dσ −

∫

∂Ω
curlw × ν · (ν × g) dσ ≈

α3
m∑

j=1

k2(ε0εj
− 1)

[
M j(ε0εj

)E0(zj)
]
· w(zj) +

α3
m∑

j=1

(
µ0
µj

− 1)
[
M j(

µ0
µj

) curlE0(zj)
]
· curlw(zj) ,
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º �   � � �����¯� È � � �J¹ È �   Ô � �����¯� M~� �~�   �

x̂l · θl = 0
M � o � o

x̂l = θ⊥l
� �  

l = 1, ..., n
o5^ �   � M ���~�l� È�È �u����� � t �JÈ�È � � �r�����¯�
� È ��� � �

n ≥ m
o

S �u�i� Èd� �r� t��6º ���,�   �u��� � �  �  �u��� È � �  
g
��� � � � �  �  � È �Ï�¯� º ���C���~�Q¹ �¯�	P|ÒK  �¯�r� º Ô½� � ���   �Ï�¯���u����� � t»È

E0,(l)(x) =

θ⊥l
� � kθl·x

M
1 ≤ l ≤ n

ojf~  � � � �¯� � � �r� t ��� º � �  �  �u���
g(l) = E0,(l) × ν

M
1 ≤ l ≤ n

MÏ� �±� ��P �
g := g(l) ��� (7)� � ºÁ� � � �r�r��� ���   �¯� Ò �

(19)
���~� � �  �  � È ���¯� º ��� Ò¬º � È��u  �u���}� t � � �   � � Ø�� t»ºBº �u�~�¯��� º ¹ �

Eh
α,(l)

obq ��P ��� Ò �~� � �JÈ
���~� ��� È ��Ô½� � ���   Ø�� t»º

w(l′)(x) = θ⊥l′
� � kθl′ ·x

M
1 ≤ l′ ≤ n

MÏ� �}�.Ô � t � � ��� �g  � � ���~� t � � ��Nw� � � º!È � º � � �
(25)
���~�

Ii¸



���  ��½º � Ø~�~� º �JÈ]� � t�t � ��È�M

All′ :=

∫

∂Ω
curlEh

α,(l) × ν · w(l′) dσ −

∫

∂Ω
curlw(l′) × ν · (ν × g(l)) dσ ,

��� � � º �u�~�¯��� Èl� ��� � �   � �M� t ¹Ï�¯�r� º~�  ��9� � �JÈ �   � � �u��� o�V � ���r� ÈT� � � � �8¹r�r� t»º ��� � �   � �M� t�t�� ���~� ��� �   � �
A :=

(All′)1≤l,l′≤n
o � ����� ���~� È �l� �   ��� � � t �  b� �~�¯� � � È � � ¹ �¯�	P|ÒK  �¯�r� º Ô½� � ���   ���¯���u����� � t»Èb� � º ��� È ��Ô½� � ���   Ø�� t»ºXÈ�M�� �

Ò �u� �g  � � ���~�   � Ò ����Nw� � � ºÙÈ � º ��� �
(25)
v

α3
m∑

j=1

[
k2(

ε0
εj

− 1)

(
M j(

ε0
εj

) θ⊥l

)
· θ⊥l′ − k2(

µ0

µj
− 1)

(
M j(

µ0

µj
)(θl × θ⊥l )

)
· (θl′ × θ⊥l′ )

] � � k(θl+θl′)·zj .

Ì �S¥��£� ´Æ²£¨L `�x�J¢£ «�)§<Ád¨L��Ã ¨L Z�i¢¶�
�+¾

q �r� È � È ���~� �M�JÈ � � �~�   � ����� È��JÈ�È � � � º ��� � �
Ω
� �¯��� � ��� È

m
� � ���  X� � � �����¯� È�� �r� � � �   ���r�r�����~� t�� � t � � �   � �Kv

εj 6= ε0
M
µj = µ0

MZ� �  �� t�t
j = 1, ...,m

o
V �R� �   �u� t �¯� �]���~� � �r�   � � � ��� �����¯�����

(25)
¹ �P� ��� ��� � t ��� �"M½� � ��� � �]  �����]���~� � �Z� � � ���u��� È � �

A
�JÈi� � t�t � ��ÈMv

� �  
1 ≤ l, l′ ≤ n

M

All′ = α3
m∑

j=1

k2(
ε0
εj

− 1)

(
M j(

ε0
εj

) θ⊥l

)
· θ⊥l′
� � k(θl+θl′)·zj .

S �u�P� È�� �¯� È � º �  _È � � � � �¯� È � � ���_Ô½� � ���  
c ∈ IR3 È � � �Â��� � � c · θ⊥l 6= 0

Md� �  �� t�t
l = 1, ..., n

M]� � ºÅÈ �u�
A? = A

T od` � Ø~�~� � �  
z ∈ Ω

M

gz,c = (c · θ⊥1
� � kθ1·z, ..., c · θ⊥n

� � kθn·z)T .

h � � �  �  ��� Ò �~� � ��� Q�IFSTM ��� �M� ��¹�� È �~� � � ��� � �C���~�   ��� � � È � È
n0 ∈

V k�È � � � ��� � � � �  �� � �
n ≥ n0

M

gz,c ∈
hT� � Ò �

(AA?)
� �a� � º �¯� t�� � �

z ∈ {z1, ..., zm}
o

q �~� È ��� Ò � t �   NäÔ � t �~� º � � � � �Ï� È �������¯��� �
A
� � t�t,� t�t � � ���~� t � �M� t �ÓÕ � �����¯�
� � ���~�T� � ���  X� � � �����¯� ÈModV � � �¯� � e�È � � Q�IFSTM

Q L<S¡m�M � � � �r� t � �M� �����¯�)� � ���r� ÈÚº � � � � ��� È �������¯��� È ���~� º �u���  �� ��� � �����¯��� � ���~�}��� � ¹Ï�   � � � � ���  X� � � �����¯� È�M¡È ��� � �
���~� ��� � ¹Ï�   � �
È � Ò �r� Ø �M� ��� È ��� Ò � t �   NäÔ � t �~� È � �

A
� ��� t»ºXÈ ���~� ��� � ¹Ï�   � �
º �u��� � � � ¹ t �C� � ���  X� � � �����¯� ÈMoEqa� �r� �M� t�t��"M

� � ���~�   ��� � � È �
3m

È � Ò �r� Ø �M� ��� È ��� Ò � t �   NäÔ � t �~� È � �
A

M ���~�u�
���~�   � �   �
m
º �u��� � � � ¹ t �±� � �Ï�  X� � � �����¯� ÈMoaV �a� t�t ���~�

È ��� Ò � t �   NäÔ � t �~� È � �
A
�   �_ÕM�   �
�  ±�ut � È �P����ÕM�   � e¡� �~�u�

A
º ��� È �~�¯��� � Ô½� � � �HÈ � Ò �r� Ø �M� ��� È ��� Ò � t �   NäÔ � t �~� m�M

���~�u�
���~�   � �   ���~� º �u��� � � � ¹ t ��� � ���  X� � � �����¯� È ���
���~� º � ��� ��� o
V �z���~� �M�JÈ � � �~�   �_���~�   � �   � º �u��� � � � ¹ t � � � ���  X� � � �����¯� È ���z���~� º � ��� ��� MK� � �M� � ����P �_� È �_� � ���~� È ��� Ò � t �   N

Ô½� � ���  �È � �
A
��� t � �M� ���P���~� �
o´Vw� � � �M� t�t

VS = [u1, u2, ..., un? ]
���~� ��� �   � � ¹ t � �	P ¹r�r� t � � ����� È � Ò �r� Ø �M� ���

t � � � È ��� Ò � t �   NäÔ½� � ���  �È � �
A

Mr� �~�   �
n? � È ���~����� � ¹��   � � ���~� È ��Ô½� � ���  �È8M ���~�u�

VSVS
T º � Ø~�~� È ���~�b�   ��Ð�� � �����¯�

�¯����� ���~� È � Ò � � t/È � �¯� �j� �
A
� � º¸� � � �¯� È � º �  

P = I −VSVS
T M�� �~�   �

I
� È ���~�

n×n
� º �u������� ����� �   � �DMZ� �����

n > 3m
ozf �  ±� � � ���¯�����

z ∈ Ω
M�t �u�l� È�º � Ø~�~� v

Wc(z) := 1
‖Pgz,c‖2

M,� �~�   �}���~� L Nw�~�  ��
‖ . ‖2

� È�� �r� t ��� º
�~�   �}��� � Ô½� � ���   � �

n
� � � �Ï�¯�~�u��� ÈMozq �~�}���¯�����

z
� �¯��� � � º � È�� �����®���~� t � �M� �����¯�>� � � �Á� � ���  X� � � �����¯�®� �]� � º

�¯� t�� � �
Pgz,c = 0

odV �����r� È_�_�M�"MJ� � �M� � � �  �� � �G� ����Ò �T� � ���~�j� � �Ï�  X� � � �����¯� È ¹ � � t �¯������� Ò
Wc
� � � �¯� �´���¯�����

z
� �

Ω
odq �~�u� M ���~�   � È � t ����� Ò � t �¯� � � t�t � � Ô½� t �  ïÒ �l�Ï� ��P%È�� �]���~� t � �M� �����¯� È � � ���~�l� � ���  X� � � �����¯� È o

IMN
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V � ���r� Èb�M�JÈ � M ���~� º � ��� ���
Ω
� �¯��� � ��� È

m
� � ���  X� � � �����¯� ÈT� �r� � � �   �z�r�r�����~� t�������Ò �~�u��� �Kv

µj 6= µ0
M
εj = ε0

M
� �  �� t�t

j = 1, ...,m
o

q �~� t � �M� t �ÓÕ � �����¯� �   � � � È�È � � ���~� È �a� � ���  X� � � �����¯� È � È�È � � � t �   ���C���~�[�¯�~� º � È �u  �Ó¹Ï� º � ¹Ï�iÔ½� M½� � º�� � � �¯� È � º �  
�~�   �l���~�b�   �.ÔZ���¯� È �~�¯� � �����¯� o[f �  

1 ≤ l, l′ ≤ n
Mr� � º�  �u� t �¯� ��� Ò ���~� � �r�   � � � ��� �����¯� ���

(25)
¹ � ���~�l� ��� � t ��� �"M

���~�l���  ��_È � � ���~� ��� �   � �
A
�~� � ¹�� � � � � v

All′ = −α3
m∑

j=1

k2(
µ0

µj
− 1)

(
M j(

µ0

µj
)(θl × θ⊥l )

)
· (θl′ × θ⊥l′ )

� � k(θl+θl′)·zj .

^ �¯� È � º �   ��� Ò
c ∈ IR3 È � � �
��� � � c · (θ⊥l × θl) 6= 0

MZ� �  �� t�t
l = 1, ..., n

M4º � Ø~�~� � �  
z ∈ Ω

M

gz,c = (c · (θ1 × θ⊥1 )
� � kθ1·z, ..., c · (θn × θ⊥n )

� � kθn·z)T .

Qjt»È � �JÈ ��� W �X¹ È � � �����¯�
5.2.1

Mi� �   � � �   �~�   �P��� Q�IFSTM Q L<S o�Vw� ���~�   ��� � � È �
3m

È � Ò �r� Ø �M� ��� È ��� Ò � t �   NäÔ � t �~� È
� �
A

M ���~�u�®���~�   � �   �
m
º �u��� � � � ¹ t ��� � �Ï�  X� � � �����¯� È�MÛ� � º � � � t�t ���~� È ��� Ò � t �   NäÔ � t �~� È � �

A
�   � ÕM�   ���  ��ut � È �

���_ÕM�   � M ���~�u� ���~�   � �   �±�~� º �u��� � � � ¹ t � � � �Ï�  X� � � �����¯� ÈMoCQ � � ����Ò � � ��º �u��� � ��� º � � �Ï�  X� � � �����¯� È � È�� �  �� � º ¹ �
� t �¯������� Ò

Wc(z) = 1
‖Pgz,c‖2

� �z� �¯� �)�Ï�¯�����
z
� �

Ω
MÛ� �~�   �

P = I − VSVS
T � �����

VS = [u1, u2, ..., un? ]���~� ��� �   � � ¹ t � �'P ¹r�r� t � � ����� È � Ò �r� Ø �M� ��� t � � � È ��� Ò � t �   NäÔ½� � ���  �È � �
A � n? ¹��u��� Ò ���~����� � ¹Ï�   � � ���~� È ��Ô½� � ���  �ÈMo

^ �   � � t»È � M
n > 3m

M
I
� È ���~�

n × n
� º �u������� � ��� �   � ��� � º ���~� L Nw�~�  ��

‖ . ‖2
� Èz� �r� t ��� º ��� � Ô½� � ���   � �

n� � � ���¯�~�u��� ÈMo
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q �~� º � ��� ���
Ω
� �¯��� � ��� È �~�   �

m
� t � � �   � ����Ò �~�u��� � � � ���  X� � � �����¯� ÈMv

εj 6= ε0
M
µj 6= µ0

MJ� �  �� t�t
j = 1, ...,m

o
q �~� t � �M� t �ÓÕ � �����¯�5�   � � � È�È � È�È � � � t �   ���Â���~�®�¯�~�®�   �.ÔZ���¯� È�t�� �   � È �u����� º � � º�� �®� È �Á�~�   �®���~� È � � �

�~�¯� � �����¯� o�f �  
1 ≤ l, l′ ≤ n

MR� � º9  �u� t �¯� ��� Ò ���~� � �r�   � � � ��� �����¯�®���
(25)

¹ � ���~�z� ��� � t ��� �"M ���~�±���  ��_È � � ���~�
��� �   � �

A
�   �

All′ = α3
m∑

j=1

[
k2( ε0

εj
− 1)

(
M j(ε0εj

) θ⊥l

)
· θ⊥l′

− k2(µ0

µj
− 1)

(
M j(

µ0
µj

)(θl × θ⊥l )
)
· (θl′ × θ⊥l′ )

] � � k(θl+θl′ )·zj .

S �u�l� Èb� �¯� È � º �  ÚÈ � � � � �¯� È � � ���
c ∈ IR3 È � � �Á��� � � c · θ⊥l 6= 0

MÛ� � º
c · (θ⊥l × θl) 6= 0

M�� �  l� t�t
l = 1, ..., n

o
` � Ø~�~� � �  

z ∈ Ω
M

gz,c =





 c · θ⊥1

c · (θ1 × θ⊥1 )


 � � kθ1·z, ...,


 c · θ⊥n

c · (θn × θ⊥n )


 � � kθn·z




T

.

� � � t»È �   � � �   �~�   �}��� Q�I�STMBQ L<S o Vw� ���~�   �P� � � È �
5m

È � Ò �r� Ø �M� ��� È ��� Ò � t �   NäÔ � t �~� È � �
A

M ���~�u�®���~�   � �   �
m

º �u��� � � � ¹ t �b� � ���  X� � � �����¯� È�M~� � º � �i� t�t ���~� È ��� Ò � t �   NäÔ � t �~� È � �
A
�   ��ÕM�   �}�  ]�ut � È �j����ÕM�   � M ���~�u�´���~�   � �   �T�~�

º �u��� � � � ¹ t �b� � ���  X� � � �����¯� ÈMo[Q �¸� ����Ò �l� �¡º �u��� � ��� º � � ���  X� � � �����¯� È � Èn� �  �� � º ¹ � � t �¯������� Ò
Wc(z) = 1

‖Pgz,c‖2� �]� �¯� �
���¯�����
z
� �

Ω
MZ� �~�   �

P
� È ¹r�r� t � �¡  � �7È � Ò �r� Ø �M� ��� t � � � È ��� Ò � t �   NäÔ½� � ���  �È � �

A
�JÈ �   �.Ô����¯� È�t��"M

n > 5m�~� � MR� � º ���~� L Nw�~�  ��
‖ . ‖2

� Èj� �r� t ��� º ��� � �
n× 2

��� �   � �,o
IMH



� E � � N�� U4YLG�U
� � � Y � U�YÙDVU � K �*P
� � �   � � �¯� � �   �~� º ���}���r� È � �   � � ����� � Ô �   � � �����¯� � tr� �u���~� º ��� º �u���  �� ���~�]���~� t � �M� �����¯� È � � ���~�_� � �Ï�  X� � � �����¯� È
�g  � � ¹��¯�r� º~�  ��¶� � �JÈ �   � � �u��� ÈMo3Q�È¸� �u�������¯�~� º ��� Q {<STM ���r� È¸� �u���~� º � È ¹ �JÈ � º �¯�¼���~� �   � Ò ��� � t � º � � � �
^ � t»º �  �� � Q H<Sj� �r� � � � �JÈ ���   � º � � � ���~� t � �M� t �ÓÕ � �����¯���   �J¹ t � � ���Á���~� �M� t�� � t � �����¯�¼� ��� �¶���LÔ½�  �È � f �¯�   ���  
�   � � ÈX� �  ��
o
f �  �È �C� �a� t�t Mrt �u�C� È]  � � �¯� È � º �   ���~� �JÈ��Z� �r���¯��� �b� �  �� � t �

(17)
�JÈ

Γ :=

∫

∂Ω
curlEα × ν · w dσ −

∫

∂Ω
curlw × ν · (ν × g) dσ =

α3
m∑

j=1

k2(ε0εj − 1)
[
M j(ε0εj )E0(zj)

]
· w(zj) +

α3
m∑

j=1

(
µ0
µj

− 1)
[
M j(

µ0
µj

) curlE0(zj)
]
· curlw(zj) + O(α4) ,

e LKy½m

� �~�   �
g = Eα × ν

� � º
k
� È ���~� �_� Ô½�±��� � ¹Ï�  Mo

f �  T� � �   ¹r���   �  ��
η ∈ IR3 MJt �u�C� È�º � Ø~�~�

β
� � º

ζ
���

IR3 È � � �
��� � � v




‖β‖2 = 1, β · η = 0,

‖ζ‖2 = 1, ζ · η = ζ · β = 0 ,

� �����
‖ . ‖

º �u�~�¯����� Ò ���~�j� È � � t �~�  ��6�JÈ�È � � � � ��� º�� ���������~� ^ �  �� ����� � �¸�   � º � � �_�¯� V^ 3 odS �u� p = η+γβ
È � � �

��� � �
p · p = k2 M � o � o M

γ
� È��´� � � � t � � ��� � ¹��  6È � � �®��� � � v

γ2 = k2 − ‖η‖2 o � � �JÈ�È � � � ��� � � � � �   � ������ È�È � È�È ���¯��� � ���~�#¹��¯�r� º~�  ���� �  �  �u��� � �   ���~�C� t � � �   � � Ø�� t»º
Eα

MK� �~� È � � �  �  � È ���¯� º ��� Ò ¹ �¯�'P�ÒK  �¯�r� º �Ï�¯���u����� � t
� È#Ò �ÓÔ½�u��¹ �

E0(x) =
� � p·xζ .

V � � �¯� � M ���
(26)

M~� � È �u�
g(x) = (

� � p·xζ) × ν(x)
� � º � È � �JÈ ���~�b��� È ��Ô½� � ���   Ø�� t»ºDM

w(x) =
� � q·xζ ,

� �~�   �
q = η − γβ

oTkT� � � t��"M,�JÈj� � t�ta�JÈ
E0

M ���~��Ô½� � ���   Ø�� t»º
w
� È ��� �¯� � �  �º~� � � � � �����

(16)
o � �����9���~� È �

� �¯� È � º �   � �����¯� È � �
g
� � º

w
Mr� � Ò �u� �g  � �

(26)
��� � �

Γ = α3
m∑

j=1

(
k2(ε0εj − 1)

[
M j(ε0εj )

� � p·zjζ
]
·
� � q·zjζ +

(
µ0
µj

− 1)
[
M j(

µ0
µj

)(
� � � p·zjp× ζ)

]
· (
��� � q·zjq × ζ)

)
+ O(α4) .

e LZ¸Km

S �u�C� È �~� � ÔZ��� � ���~� � � �JÈ �   � � �u��� �JÈ��z� �r� � �����¯� � �
η
v

Γ(η) ≈ α3
m∑

j=1

(
k2(ε0εj − 1)

[
M j(ε0εj )ζ

]
· ζ −

(
µ0
µj

− 1)
[
M j(

µ0
µj

)((η + γβ) × ζ)
]
· ((η − γβ) × ζ)

) � � 2η·zj .

LKx



f � t�t � � ��� Ò}h � ���  �P
3.2

M�� �~�u� � t�t ���~�C� � ���  X� � � �����¯� È_�   �,¹ � t�t»È�M ���~�����u� È �  �È
M j(c)

�   ��� � ���~� � �  ��
mj(c)I3

M
� �~�   �

mj(c)
� È���È �M� t �  ,º �u�Ï�u� º ��� Ò �¯�

c
odV �����r� ÈC�M�JÈ � Mr� � Ò �u�

Γ(η) ≈ α3
m∑

j=1

[
k2(

ε0
εj

− 1)mj(
ε0
εj

) − (
µ0

µj
− 1)mj(

µ0

µj
)(2‖η‖2 − k2)

] � � 2η·zj .
e LKN½m

h � �M� t�t ��� � �[���~� � �r� � �����¯�¸� � 2η·zj
e �r�G��� �l� � t ����� t � �M� ���ÓÔ½� � �¯� È � � ��� m � È � �~�¯� � t�� ���~� f �¯�   ���   �   � � ÈX� �  �� � � ���~�

` �   �¯�¿º � t � �
δ−2zj

e � �Ï�¯����� ���JÈ�È±t � �M� ��� º�� �
−2zj
mpo¸W ��� � �

‖η‖2 � Èz� ��� t�� �~� � � � t ���>���~� � �Z�  �º ��� � ��� È ηi
M

1 ≤ i ≤ 3
M � �

η
MJ� �b� � Ô½�l�������~�   � Ò ����Nw� � � º«È � º �l� �

(28)
� � t ����� t � �M� �����¯� È ¹ � ��� � �  �È � �

ηi
��� f �¯�   ���  ,È � �¯� �

��� � � � �  �  � È ���¯� º ��� º ���,�   �u����� � �����¯� È � � ���~� º � t � �z� �r� � �����¯� ÈModV �´���r� È � �   ��� � � t �  C�M�JÈ � M ���~�b� � �   � È�È ���¯�G���´���~�
  � Ò ����Nw� � � º(È � º �j� �

(28)
� È ���~�   � � �   �j���~� f �¯�   ���   �   � � ÈX� �  �� � �Û�bt ���~� �  _� � � ¹r��� � �����¯��� �×º �   �ÓÔ � ���ÓÔ½� È � � �  �º �  

t � È�È ��� � � �   � ��� � t ��� L � ��º � t � � � �r� � �����¯� Èj� �u�����   � º9� �C���~�±�Ï�¯����� È
−2zj

M
1 ≤ j ≤ m

o Ñ �   �l�   � � � È � t��"M ���~�
���LÔ½�  �È � f �¯�   ���   �   � � È�� �  �� � �

Γ(η)
� È � � �   � È�È � º
�JÈMv

Γ̌(x) ≈ α3
m∑

j=1

Lj(δ−2zj
)(x) ,

� �~�   �
Lj
� È���È � � �¯� º �  �º �  6º ���,�   �u����� � t �¯���   � ���  �� ����� � �¯� È � � ��� � �Z� � � ���u��� È�º �u�Ï�u� º ��� Ò �¯�

mj(ε0εj )
� � º

mj(
µ0
µj

)
oEV �}���r� È_� �r�   � �¯� � MJ� ��� � �   � �M� tRf �¯�   ���   ���LÔ½�  �È ���¯�¸� ���ÆÈ � � � t ��� �Ï� � �JÈ �   � � �u��� ÈQÈ �~�¯� t»º � � � ���u��� t��

�r��� º � � �����~�
zj

& ÈMo�q �r� È¸� �r�   � �¯� ��� �JÈ ¹�� �u� È � � � � È�È�� � t�t�� � È � º ���%���~� � �¯����� � �´� � ���~� t � �M� t �ÓÕ � �����¯�¼� �
� �¯� º � � ���ÓÔZ��� � � � ���  X� � � �����¯� ÈTe�È � � Q �<S¡mpoEq �~���   ��� � ��� t ��� � ���~�C����Ô½�  �È � f �¯�   ���  n� �u���~� º ��� � � � � t�t ¹�� º � È��u  �Ó¹�� º
�~�   �]� È*È � � � t �   ���b���~�C�¯�~� �   � È �u����� º ¹ �}`}o!Y � t P �xÔ}��� Q L |!S ���P���~� � �¯����� � �_� ���bt � �M� t �ÓÕ � �����¯��� � � � �Ï�  X� � � �����¯� È
�g  � �
� �
���LÔ½�  �È ���   �J¹ t � � ¹ �JÈ � º �¯�
���~�Ú¹r�ON º � � �u� È ���¯� � t ^ � t�� �~� t �ïÕ±� ��� � �����¯� o

� �~�u� È � � �n� � ���~�a� � ���  X� � � �����¯� ÈE�   �a�~�¯�¡¹ � t�t»È�M � � ���M�l  � �]  �����
(27)
�JÈ ¹�� t � � M � �~�   �[���~� � � �JÈ �   � � �u���

Γ
� È ÔZ��� � � º9��Ò�� ��� �JÈ�� � �r� � �����¯� � �

η
v

Γ(η) ≈ α3
m∑

j=1

(
k2(

ε0
εj

− 1)Tε0,εj
(η) − (

µ0

µj
− 1)Tµ0 ,µj

(η)

) � � 2η·zj ,
e LKH½m

� �����
Tε0,εj

(η) = (M j(ε0εj
)ζ) ·ζ

� � º
Tµ0,µj

(η) = (M j(µ0
µj

)((η+γβ)×ζ)) ·((η−γβ)×ζ)
o[q �~�]� � �   � È�È ���¯�

���>���~�   � Ò ����Nw� � � ºüÈ � º ��� �
(29)
� È ��� � �¯� �±���~� f �¯�   ���   �   � � ÈX� �  �� � ��� � �¯�Ï�   � ���   � �C��� �   � � � � � t � �M� ��� º

P ��� º%�¯� ����� Ò �¯� º � t � �®� �r� � �����¯� ÈG� �u�����   � º�� �����~���Ï�¯����� È
−2zj

M
1 ≤ j ≤ m

o¶q �~�
�   � È �u��� t � �M� t �ÓÕ � �����¯�
�   ��� � ��� t � � �¯� È � È � È � �¡È¢� � � t ��� Ò ���~��Ô � t �~� È � �

Γ(η)
� � È � � � º � È��u  �u��� È �u�]� � �Ï�¯����� ÈC� � º ���~�u���.Ô � t � � ����� Ò ���~�

� �  �  � È ���¯� º ��� Ò�º � È��u  �u�������LÔ½�  �È � f �¯�   ���   �   � � È�� �  ��
oEQ�� ���  n�l  � È��M� t ��� Ò¸e ¹ �
−1

2

m�M ���~� È �r�r���   �[� � ���r� È ����Ô½�  �È �
f �¯�   ���   �   � � ÈX� �  �� � � t�t �   �xÔZ� º �����~� t � �M� �����¯� È � � ���~�l� � �Ï�  X� � � �����¯� ÈMo
q[� �r� �M� t�t��"M½� �   � �¯� �P���¯�����

η
� � ���~� È � � � t ��� Ò MK� � � �¯� È � º �  

g(x) = (
� � (η+γβ)·xζ)×ν(x)

�JÈ ���~�t¹��¯�r� º~�  ��
� �  �  �u���]���

(7)
� � º´� � � �r�r���T���   �¯� Ò �

(19)
���~� � �  �  � È ���¯� º ��� Ò º � È��u  �u���b� t � � �   � � Ø�� t»ºDM%º �u�~�¯��� º �~�   ��¹ �

Eh
α

o
Q�� ���  8º �u���  �� ���r��� Ò ���~� º � È��u  �u���¿Ø�� t»ºDM

curlEh
α × ν

Mi� �¸�.Ô � t � � ���¸��� � �   � �M� t�t�� ���~� � � �JÈ �   � � �u���
Γ(η)

¹ �
� È ��� Ò � �,� �¯�  �È �

w(x) =
� � (η−γβ)·xζ

�JÈ ���~����� È �*Ø�� t»º ��� ∫
∂Ω curlEα ×ν ·w dσ−

∫
∂Ω curlw×ν · (ν× g) dσ

M
� � º ¹ �G  �u� t �¯� ��� Ò

Eα
¹ �

Eh
α

�������r� È�º �����   �u� � �z� � ���  ��_ÈC  �u�   � È �u������� Ò ��� � �¯� �]���~� t � � ��Nw� � � º�È � º ��� �
(27)
o

S �u�l� È �~� � È ��� � � �¡�"MÏ� � t�t � � ��� Ò Q L |!STMU� �Ï� È�È �Ó¹ t � �_� � ���   � t � ���P���~� � �¯���������~�¯� È±f �¯�   ���   �   � � ÈX� �  �� � �]�
� �r� � �����¯� ��� � � º �Z� È �~�¯� º � �u  � �JÈ �   � �r� ºJt�� ������� ÈÚº � È��u  �u��� fEfiqloÛkT� � � t��"M � � º � È �u  �Ó¹Ï� �¸�_� � ��� � �~�Z� È � �
È ���u� È �ÓÕM� � �  �È � � � t ��� Ò�� �����   � È ��� � �]���

η
���
���~�b��� � �   � �M� t�È � � � t � �����¯� ÈMo

LJI



f �  �È �b� �_� t�t MÏt �u�b� Èb�JÈ�È � � �±��� � � � t�t ���~� � �u�����  �È
zj = (z1

j , z
2
j , z

3
j )T
� � ���~�z� � ���  X� � � �����¯� È�e

1 ≤ j ≤ m
m

t ���l��� �_º � ��� ���
[−K,K]3

Mr� �~�   �����~�Ú¹Ï�¯�r� º
K
� È\P �~� � � onq � È � � � t � �g� ���~�±�   � È �u��� � �����¯� MRt �u�C� Èj� �¯� È � º �  

���~� � �  �� � t �
(28)
� � º
  � �]  ����� È � � � t�� ��� È]  � Ò ����Nw� � � ºBÈ � º � �JÈMv

m∑

j=1

Cj
� 2 � (η1z1

j +η2z2
j +η3z3

j ) ,
e {Kx½m

� �~�   �T���~� � � � � t � �¸� �¯� È � � ��� È
Cj
�   �T�r� P �~� � � oaQ�È �   �.ÔZ���¯� È�t��G� �u�������¯�~� ºDMJ� �   � �¯� �

η = (η1, η2, η3)
T MZ� �

�   � � ¹ t �[���C�.Ô � t � � ���a���~� � � �JÈ �   � � �u���
Γ(η)
� � º ���~�   � � �   � � � �JÈ�È � � �d��� � �

(30)
� ÈDP �~� � � � �  

(η1, η2, η3)
T ∈

[−ηmax, ηmax]
3 M �¯� ��  � Ò � t �  �ÒK  � º ���Jº �z�r�Á� �

n3 ���¯����� ÈMo � � �   �z���~�u�9���9�Ï� È�È � È�È ���¯� � � ���~� È � ���~�u� � � � �
º~� � �Jv

m∑

j=1

Cj

� 2 � ((−ηmax+(l1−1)ρ)z1
j +(−ηmax+(l2−1)ρ)z2

j +(−ηmax+(l3−1)ρ)z3
j ) , 1 ≤ l1, l2, l3 ≤ n ,

� �~�   �
ρ =

2ηmax
n
odQ�� ���  �� �r� t�� ��� Ò ���~�l����Ô½�  �È � fEfEq ���}���r� È�È � ���~�u� � � Mr� � Ò �u�

1
n3

m∑

j=1

Cj

∑

1≤l1,l2,l3≤n

� 2 � ((−ηmax+(l1−1)ρ)z1
j +(−ηmax+(l2−1)ρ)z2

j +(−ηmax+(l3−1)ρ)z3
j )

×
� 2 � π(

(l1−1)
n

(s1−1)+
(l2−1)

n
(s2−1)+

(l3−1)
n

(s3−1)) ,

e {JI m

� �����
1 ≤ s1, s2, s3 ≤ n

odS �u�C� È �~� �5� �¯� È � º �   ���~� � � º � t �±� � ���~�b���  �� ���
(31)

M�  � º � � � º �JÈ � � t�t � ��ÈMv
∣∣∣∣∣∣

m∑

j=1

1

n3
8Cj

sin(2ηmaxz
1
j ) sin(2ηmaxz

2
j ) sin(2ηmaxz

3
j )

(
� 2π(

ρz1
j

π
+

s1−1
n

)
�
− 1)(

� 2π(
ρz2

j

π
+

s2−1
n

)
�
− 1)(

� 2π(
ρz3

j

π
+

s3−1
n

)
�
− 1)

∣∣∣∣∣∣
.

e {KL½m

q �~�u� M,�JÈ
n
¹Ï� � � � � ÈTt �  ïÒ � M ���~� ��� � ������� � ���

(32)
� È�È���� t�t �r� t � È�È �¯�~� � � ���~�z���  ��_È ρz1

j
π + s1 − 1

n
M ρz2

j
π +

s2 − 1
n

M~� � º ρz3
j
π + s3 − 1

n
� È��ut � È �b��� � ��������� Ò �  Mo � � �u� � �  �� ��� Ò e � �   � �r� � � t � m

Kρ

π
<
∼

1

3
,

e {K{½m
� �¯� �>�¯�~�P� � ���~�}�   �.Ô����¯� È ���  ��_ÈÚÈ � � t�t �¯� t��Á� �r�   � �¯� �>���~�}������� Ò �  �È

0
�  

1
M ��� ���~� �M�JÈ � � �~�   �

n
¹Ï� � � � � È
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M�� �  
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1 ≤ j ≤ m
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  � t � �����¯�
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odV � � �¯� � MJ� �l� � Ô½�
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2ηmax
n
� � º � ��P � �g  � �

(33)
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ρ ≈
1
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e { |�m
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ρ
�¯� � �  �º ��� Ò ���
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n� � º � �
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ρ
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i)
� �¯� È � º �   � �����¯� � �d� Ø~�r�����l��� � ¹Ï�   � � � t � � �   � �±� �  �  �u��� È ��� � �r� t�� �¯�����~��¹��¯�r� º~�  �� � � ���~� º � ��� ��� �

ii)
� � � �r�r� � �����¯�>� � ���~� º � È �u  �u���z� t � � �   � � Ø�� t»º)e �JÈ�È � � � � ��� º9� �����

Eα
m ���   �¯� Ò �9���~� º � È��u  �u��� � �  �� � t � �����¯�

(19)
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� �¯��� � ��� È � � �_¹ � t�t N t � P � È � � �Ï� º � � ���  X� � � �����¯� È � �E� �u�����  �È

(0.23,−0.31, 0.15)T M
(−0.17, 0.43,−0.11)T MR� � º � � ���~� È¢� � �!&   �Jº ��� È &

α = 0.2 �
• T 4

α

� �~�u�
Ω
� �¯��� � ��� È ���   � ��¹ � t�t N t � P � È � � �Ï� º � � ���  X� � � �����¯� È � �d� �u�����  �È

(0.23,−0.31, 0.15)T M
(−0.17,−0.43,−0.11)T M

(−0.5, 0.25, 0.1)T MR� �����   � È �Ï� � ���ÓÔ½� &   �Jº ��� &
0.18

M
0.16� � º

0.17
o
V �����r� Èz�M�JÈ � MÛ� � º �u�~�¯���Ê¹ �

α
���~� ����� � ��� tn  �Jº ��� È}� � º ¹ �

α � ��� ���~� � ���r� ��� t_  �Jº ��� ÈMv
α = 0.18

M
αmin = 0.16 �

• T 5
α

� �~�u�
Ω
� �¯��� � ��� È ���   � ��� � �Ï�  X� � � �����¯� È �¯�~� � �b� �r� � ��� �JÈ ���~� È � � ���
� ��� ¹ � t�t � �l  �Jº ��� È

0.16� � º � ��� �u�����  
(0.23,−0.31, 0.15)T o¼q �~� È � � �¯� º �¯�~�
� �JÈ ���~� È � � ���
� �±� ��� t�t ��� È �¯� º%� �u�����   � º¼� �

(−0.17,−0.43,−0.11)T � ����� È � � �ON ��� � È � �_t �u� Ò ��� È 0.16
M
0.16

M
0.18
���®���~� º �   � � �����¯� È

Ox
M
Oy

M
Oz  � È �Ï� � ���ÓÔ½� t��½oEq �~� t �JÈ � � � ���  X� � � �����¯� � ÈE� t»È �j� t�t ��� È �¯� º N È � � ��� ºDM ¹r�r� � �u�����   � ºP� �

(−0.5, 0.25, 0.1)T � ��������~� & È � � �ON ��� � È & e �¯�
Oxy
m]  �¯� � ��� º � ¹��¯�r�

Oz
¹ � � � � � ÒKt � � � π

4
o�q �~� t �u� Ò ��� È � � ���~� & È � � �ON ��� � È &Ï� �

���r� È � � �Ï�  X� � � �����¯� �   �
0.16

M
0.17
� � º

0.19
o]k � � M

α
� È ���~� ����� � ��� t Ô � t �~��� � ���~� È � � �ON ��� � ÈCt �u� Ò ��� È

� � º ���~� &   �Jº ��� È &d� � ���~�(Ø  �È �P� � �Ï�  X� � � �����¯� M_� � º
α � ��� � È ���~� � ���r� ��� t Ô � t �~��� � ���~� È ����� � ����������� ÈMv

α = 0.19
M
αmin = 0.16

o
Y[�¯� �G�¯�~�C� � ���~� È � º � È �u  �u���ÓÕ � �����¯� È � È � �U� �¯�  �È � �JÈ�È � � � � ��� ºP� ����� �l� �¯� � �  �� ��� Ò±� � È � ���Jº �]�r��� � ���u�   � �~� ºJ  �
��� � �¸� ��P � È � � � t � � ��� t�� ������� �¯� � �¯�r���´���~� Ò � � � �u�  �� � � � �¯� �¼� � ���  X� � � �����¯� � ���~�   � È � t ����� Ò)� � È � È �ÓÕM� h � È�~�   � È��|È ��� ��� ��� �M� t�t��<È���� t�t �   ��� � �)���~� t � � � È � � � ���~� &   �Jº ��� & �   & È � � �ON ��� � Èzt �u� Ò ��� È &Û� � ���~�G� � �Ï�  X� � � �����¯� È
e
h < αmin

mpo¶V �Â���~� � � t�t � � ��� Ò � � ¹ t � Mn� � Ò �ÓÔ½� È � � � � � �   �¯� ���   � È ��� �)È � � ���~� � � È �¶���%� �¯� �%�¯�~�
� � ���~� È �
È �u������� ÒZÈMo

NK NIE NIV nf ne h

T 1
α

|��JIMxJI |�HKHKxKy yKy |�{ {KyZ¸¯N �K�JIi¸ xJo�Ii¸`¸¯LK�
T 2

α

� |�{KyKN yKxZ¸¯�K{ NKLJIM� {KyKyKL � |�HK{ xJo�IM�Z¸ZIi¸
T 3

α

�K�KN |�¸ yKLK{KNKy N |�LK� {Z¸`¸�| �KyKyJI xJo�IM�Z¸ZIMN
T 4

α

y |�¸¯yK� ¸¯LKyKyKL HKNZ¸¯L {KHK�KL �KHKLKN xJo�Iu|�NJIMx
T 5

α

¸�|�xKHK{ NK{K{K{ | IKIM{KyK{ |�L |�y yK{KyKH xJo�Iu|��K{ |
L |



� � � � Ô½� º �u�~�¯��� º ¹ �
NK, NIE, NIV

���~� ��� � ¹��   � � ���u�   � �~� ºJ  �7M �������   � � t � º%Ò � Èb� � º �������   � � t Ô½�   ��� � � È
  � È ��� � ���ÓÔ½� t��½oaQjt»È � M

nf
M
ne
�   �   � È ��� � ���ÓÔ½� t�� ���~����� � ¹��   � � ¹Ï�¯�r� º~�  ��¸�w�¯� � È�� � º ¹��¯�r� º~�  �� � º%Ò � ÈMo

� E � 	 � � U�Y � I M ��R�� �dP � � � ��� U4I � Y � I � U�Y � � Y �dM ��� �¡N G

� � � �   � º �.Ô½�¯����� Ò �¯�  a� �����u�������¯�P���T���~�_��� � �   � �M� t�t � �M� t �ÓÕ � �����¯�P� � ���~�_� � ���  X� � � �����¯� È8M¯� �tØ  �È �i��� È ��� � �i��� � �   N
� �M� t�t�� ���~� �JÈ��Z� �r���¯��� � � �  �� � t �

(15)
��� � � � t�t � ��È � È ��� È ��� ºJ� ���~� ���   ���   ¹ � �����¯�

( 1
µα

curlEα−
1
µ0

curlE0)×

ν|∂Ω
M ��� ���~�l� � � Ò �u����� � t ¹Ï�¯�r� º~�  �� �   �¯� ��� � ���~� � �  �t � � ���~��� t � � �   � � Ø�� t»º,o
V � � � � � � � t�t � ��È�M�� t�t �¯�   ��� � �   � �M� ti  � È � t � È]� � t�t ¹�� º � È��u  �Ó¹�� º�� �����   � È ��� � �C���}���~�l� �   � � �u���  

τ := αω ,
e {K�½m

� �r� � � � �JÈ �~�   � � �r� �%È � �M� t�È �u� È � e�È ��� � � t ��� P � º �������~� �¡  � ���~�u� �u�
ω
m � �¯���   �  �� ���

α
o_Vw� ���~� º � ��� ���

Ω
�_�JÈ

� ¹ � t�t � �E  �Jº ��� È
r

M ���~�b� �   � � �u���   ���
(35)
� �¯� t»º ¹�� º � Ø~�~� º9�JÈMv

τ = αω/r
o

� �~�u�
Ω
� �¯��� � ��� Èl�_È ��� ÒKt �±� � �Ï�  X� � � �����¯� � �u�����   � ºÁ� �

p = (p1, p2, p3)
T M ���~� � �  �� � t �

(15)
� ÈC  � �]  �������u�

�JÈ � � t�t � ��ÈMvd� �  �� � �
z ∈ ∂Ω

M

( 1
µα

curlEα − 1
µ0

curlE0)(z) × ν(z)

− 2

∫

∂Ω
curlz(Φ

k(x, z)( 1
µα

curlEα − 1
µ0

curlE0)(x) × ν(x)) × ν(z) dσx =

2 τ2α(
µ0
µ1

− 1)G(p, z) × ν(z)M 1(
µ0
µ1

)(curlE0)(p)

+ 2 τ2αε0(
1
ε1 − 1

ε0 )((curlxG)(p, z))T × ν(z)M 1(ε0ε1 )E0(p) + O(α4) .

V �)�  �º �   ���9��� È �Ï� � �}��� � �   � �M� t�t�� ���r� Èz� �  �� � t �7Md� � � �¯� È � º �   ���~� � �r� � �����¯� � t#º � Ø~�~� º¥�JÈz� � t�t � ��ÈMv�� �  P� � �
z ∈ ∂Ω

M

Rτ (z) := ( 1
µα

curlEh
α − 1

µ0
curlE0)(z) × ν(z)

− 2

∫

∂Ω
curlz(Φ

k(x, z)( 1
µα

curlEh
α − 1

µ0
curlE0)(x) × ν(x)) × ν(z) dσx

− 2 τ2α(
µ0
µ1

− 1)G(p, z) × ν(z)M 1(
µ0
µ1

)(curlE0)(p)

− 2 τ2αε0(
1
ε1

− 1
ε0

)((curlxG)(p, z))T × ν(z)M 1(ε0ε1
)E0(p) .

e {Ky½m

fr  � ��� ¹Ï�¯�r� º~�  ��´� �  �  �u���
g = E0 × ν

�JÈ�È � � � � ��� º´� �����
���~��¹ �¯�'P�ÒK  �¯�r� º Ô½� � ���   �Ï�¯���u����� � t
E0

È � � �
��� � �




E0(x) =
� � kx·vv⊥

M

x ∈ Ω, v = (cos(ψ) sin(φ), sin(ψ) sin(φ), cos(φ))T M
e {Z¸Km

� �����
ψ ∈ [0, 2π]

� � º
φ ∈ [0, π]

Ø � � ºDMJ� � � � � �r�r���b���   �¯� Ò �
(19)
���~� � �  �  � È ���¯� º ��� Ò_º � È��u  �u���l� t � � �   � � Ø�� t»º

Eh
α

M �������~� º � ��� ���
Ω
� �~� È � º � È��u  �u���ÓÕ � �����¯�
� È �~�   �

T 1
α

�  
T 2

α

odq �~�±�.Ô � t � � �����¯� � �
Rτ

M~� � � Ø~�r�����l��� � ¹��  �M

L
M � � �Ï�¯����� È �¯�

∂Ω
MJ  � ���r�   � È ���~� �M� t�� � t � �����¯� � � ���~�l������� ÒK  � t ���  �� ���

(36)
�JÈC� � t�ti�JÈ ���~� � �r�   � � � ��� �����¯� È

� � ���~�¸��� t �   �ÓÕ � �����¯�Â���u� È �  �È
M1(

µ0
µ1

)
� � º

M1(ε0ε1
)
o � � � � � �r�r���´���r� È ������� ÒK  � t ���  ��1� ����� � ��� � �   � �M� t

������� ÒK  � �����¯� � �u���~� º � � �  �º �  �LJo�f �   �.Ô � t � � ����� Ò ��� � �   � �M� t�t��
M1(

µ0
µ1

)
�  
M1(ε0ε1 )

Ma� �¬Ø  �È � � �¯� È � º �  G�
� � ��P¸� �  �� � t � �����¯�9��� È��M� t �   ���¯���u����� � tU����P ��� Ò � È �l� �a� ¹Ï�¯�r� º~�  �� ������� ÒK  � t �¯���   � ���  �M�� � º �JÈ�È � � � � ��� º´� �����
(13)
o�Q�� ���  ¿º � È��u  �u���ÓÕ ��� Ò ���r� È�� �  �� � t � �����¯� �g  � � � � � � ¹r��� � �����¯�¼� � �������   ���   �~� º~� t Ø~�r�����9� t � � �u��� ÈG� �����

LK�



¹��¯�r� º~�  �� Ø~�r�����b� t � � �u��� È � � Ø  �È ��N �  �º �  ±e�È � �T� o Ò~oRQ�IMN�SÏ� �   ���~� � �r�   � � � ��� �����¯�9� � ���~� � �u�������¯�~� º ¹Ï�¯�r� º~�  ��
������� ÒK  � t �¯�Ï�   � ���  ¢m�MÛ� � � � � �r�r�������~� º � È��u  �u��� È��M� t �   ���¯���u����� � t �JÈ�È � � � � ��� ºÁ� �����

(13)
Mi� � º ���~�u�>� È �}���l���

�.Ô � t � � ���l��� � �   � �M� t�t�� ���~� � �Z� � � ���u��� È � � ���~�����u� È �  ]�g  � �
(14)
o

S �u�
θl = (cos(2π l − 1

L− 1) sin(π l − 1
L− 1), sin(2π l − 1

L− 1) sin(π l − 1
L− 1), cos(π l − 1

L− 1))T
M
1 ≤ l ≤ L

M ¹��z���~�
¹��¯�r� º~�  �� ���¯����� ÈC� �~�   �

Rτ
� � t�t ¹Ï�l�.Ô � t � � ��� ºDM�� � º�È �u� v

R∞
τ = max

1≤l≤L
|Rτ (θl)| V^ 3 ,

� �����
| . | V^ 3

���~�l���%Ø~�r��� � Nw�~�  �� �¯� V^ 3 oQ È ��� ºJ� � �
R∞

τ

� �����   � È �Ï� � �Û���]���~�d� �   � � �u���  
τ
� È �   �¯�Ï� È � º ¹Ï� t � ��o q �~�d��� � �   � �M� t�  � È � t � ÈU  �u�   � È �u����� º

��� f � Ò �   � È
2

N
7
� � Ô½��¹�� �u�
�J¹r� � ���~� º
� �����

10−4 ≤ τ < 1
M
L = 21

M�� � º
µ0 = ε0 = 1

o
� � È � �P���   �ÓÕM�l��� f � Ò �   � È

2
N
3
���~�   � È � t � È �J¹r� � ���~� º��g  � � ���~� º � È��u  �u���ÓÕ � �����¯�

T 1
α

� � º ¹ �´� �¯� È � º �   ��� Ò
ψ = 2π

M
φ = π

���
(37)
o

10
−4

10
−3

10
−2

10
−1

10
0

10
−10

10
−9

10
−8

10
−7

10
−6

10
−5

10
−4

10
−3

10
−2

10
−1

10
0

 

 
µ

1
 = 1, ε

1
 = 3

µ
1
 = 1, ε

1
 = 5

µ
1
 = 1, ε

1
 = 10

10
−4

10
−3

10
−2

10
−1

10
0

10
−10

10
−9

10
−8

10
−7

10
−6

10
−5

10
−4

10
−3

10
−2

10
−1

10
0

 

 
µ

1
 = 3, ε

1
 = 1

µ
1
 = 3, ε

1
 = 3

µ
1
 = 3, ε

1
 = 5

µ
1
 = 3, ε

1
 = 10

f � Ò �   � LJv�S � Ò N t � Ò�  �u�   � È �u��� � �����¯� � �
R∞

τ

� �����   � È ��� � �b��� È � � ��Ô � t �~� È � �
τ

MÏ�g  � � ���~� º � È��u  �u���ÓÕ � �����¯�
T 1

α� � º´� �  
ψ = 2π

M
φ = π

���
(37)

M
ε1 = 1, 3, 5, 10

� �����
µ1 = 1

e � � t � � � m � � º
µ1 = 3

e � �   � Ò ��� mpo
V � f � Ò �   � È

4
N
5
� �   �u�   � È �u���i���~�   � È � t � È �J¹r� � ���~� º��g  � � ���~� º � È��u  �u���ÓÕ � �����¯�

T 1
α

��Ò�� ��� M ¹r�r� � �����
ψ = 7π

4
M

φ = π
4
���

(37)
o[V � � � � � �   � È �¯� � �����
���~�   � È � t � È � �if � Ò �   � È

2
N
3

MJ� ���~�¯��� � �l��� � �
R∞

τ

�   � È �   Ô½� È ���~� È � � �
Ô �   � � �����¯� ÈC� �����   � È ��� � �]���

τ
o

q �~�   � È � t � ÈC  �u�   � È �u����� º ��� f � Ò �   � È
6

N
7
� � Ô½��¹Ï� �u�
�J¹r� � ���~� º ¹ �´� �¯� È � º �   ��� Ò

ψ = 2π
M
φ = π

� � º ���~�
º � È��u  �u���ÓÕ � �����¯�

T 2
α �
���~� È �   � È � t � È��   � � �   � �¯� � �   � ������� � � ���~� È �P� �_f � Ò �   � È

2
N

3
º �   �ÓÔZ��� Ò´�g  � �

T 1
α

� �����
���~� È � � � � �~�¯� � �±� � Ô � t �~� È � � ���~�l� �   � � �u���  �È

µ1, ε1
M
ψ
� � º

φ
o

W � � � t �  j  � È � t � È ���P���~� È �   �u�   � È �u����� º ��� f � Ò �   �
6

N
7
� � Ô½�Ú¹�� �u� �J¹r� � ���~� º��g  � �½È � � � t � �����¯� È�M ¹ � � È ��� Ò

��Ò�� ���
T 2

α

M ¹r�r� � �����
ψ = 7π

4

M
φ = π

4

M�� � º ��� � � t�t � ��È ��� � �b���~� È �   � È � t � Èl�   � � �   � �¯� � �   � ���}��� � �Á���~� È � � �
f � Ò �   � È

4
N
5
o

� � �M� �G�J¹ È �   Ô½� �g  � �"f � Ò �   � È
2

N
7
���~�C��� � �   � �M� t,�JÈ���� �r���¯��� � ¹Ï�u� � Ô����¯�   � �

R∞
τ

� �����   � È ��� � �[���
τ
oiV �

� �r��� �  �È �¯�9���~�±�¯���~�   � � � º ��� � �
R∞

τ

Ô �   ��� È�� �����   � È ��� � �C�������~� � �¯���   �JÈ �T� � ���~� º � ��� ��� M ��� º �u���u� º �u��� t��
� � ���~� � �¯� È � º �   � º(È �u������� Ò~o � � � t»È ���~�¯��� � �T��� � �_���~�,Ô � t �~� È � �

R∞
τ

�   � � �   � �¯� � �   � ���T���¸���~� �M�JÈ �
µ1 = µ0

M

LKy



10
−4

10
−3

10
−2

10
−1

10
0

10
−7

10
−6

10
−5

10
−4

10
−3

10
−2

10
−1

10
0

10
1

 

 
µ

1
 = 5, ε

1
 = 1

µ
1
 = 5, ε

1
 = 3

µ
1
 = 5, ε

1
 = 5

µ
1
 = 5, ε

1
 = 10

10
−4

10
−3

10
−2

10
−1

10
0

10
−7

10
−6

10
−5

10
−4

10
−3

10
−2

10
−1

10
0

10
1

 

 
µ

1
 = 10, ε

1
 = 1

µ
1
 = 10, ε

1
 = 3

µ
1
 = 10, ε

1
 = 5

µ
1
 = 10, ε

1
 = 10

f � Ò �   � {Jv�S � Ò N t � Ò�  �u�   � È �u��� � �����¯� � �
R∞

τ

� �����   � È ��� � �b��� È � � ��Ô � t �~� È � �
τ

MÏ�g  � � ���~� º � È��u  �u���ÓÕ � �����¯�
T 1

α� � º´� �  
ψ = 2π

M
φ = π

���
(37)

M
ε1 = 1, 3, 5, 10

� �����
µ1 = 5

e � � t � � � m � � º
µ1 = 10

e � �   � Ò ��� mpo

10
−4

10
−3

10
−2

10
−1

10
0

10
−10

10
−9

10
−8

10
−7

10
−6

10
−5

10
−4

10
−3

10
−2

10
−1

10
0

 

 
µ

1
 = 1, ε

1
 = 3

µ
1
 = 1, ε

1
 = 5

µ
1
 = 1, ε

1
 = 10

10
−4

10
−3

10
−2

10
−1

10
0

10
−10

10
−9

10
−8

10
−7

10
−6

10
−5

10
−4

10
−3

10
−2

10
−1

10
0

 

 
µ

1
 = 3, ε

1
 = 1

µ
1
 = 3, ε

1
 = 3

µ
1
 = 3, ε

1
 = 5

µ
1
 = 3, ε

1
 = 10

f � Ò �   � |~v�S � Ò N t � Ò�  �u�   � È �u��� � �����¯� � �
R∞

τ

� �����   � È ��� � �b��� È � � ��Ô � t �~� È � �
τ

MÏ�g  � � ���~� º � È��u  �u���ÓÕ � �����¯�
T 1

α� � º´� �  
ψ = 7π

4

M
φ = π

4

���
(37)

M
ε1 = 1, 3, 5, 10

� �����
µ1 = 1

e � � t � � � m � � º
µ1 = 3

e � �   � Ò ��� mpo

10
−4

10
−3

10
−2

10
−1

10
0

10
−7

10
−6

10
−5

10
−4

10
−3

10
−2

10
−1

10
0

10
1

 

 
µ

1
 = 5, ε

1
 = 1

µ
1
 = 5, ε

1
 = 3

µ
1
 = 5, ε

1
 = 5

µ
1
 = 5, ε

1
 = 10

10
−4

10
−3

10
−2

10
−1

10
0

10
−7

10
−6

10
−5

10
−4

10
−3

10
−2

10
−1

10
0

10
1

 

 
µ

1
 = 10, ε

1
 = 1

µ
1
 = 10, ε

1
 = 3

µ
1
 = 10, ε

1
 = 5

µ
1
 = 10, ε

1
 = 10

f � Ò �   � �Jv�S � Ò N t � Ò�  �u�   � È �u��� � �����¯� � �
R∞

τ

� �����   � È ��� � �b��� È � � ��Ô � t �~� È � �
τ

MÏ�g  � � ���~� º � È��u  �u���ÓÕ � �����¯�
T 1

α� � º´� �  
ψ = 7π

4

M
φ = π

4

���
(37)

M
ε1 = 1, 3, 5, 10

� �����
µ1 = 5

e � � t � � � m � � º
µ1 = 10

e � �   � Ò ��� mpo
LZ¸



10
−4

10
−3

10
−2

10
−1

10
0

10
−11

10
−10

10
−9

10
−8

10
−7

10
−6

10
−5

10
−4

10
−3

10
−2

10
−1

10
0

 

 
µ

1
 = 1, ε

1
 = 3

µ
1
 = 1, ε

1
 = 5

µ
1
 = 1, ε

1
 = 10

10
−4

10
−3

10
−2

10
−1

10
0

10
−11

10
−10

10
−9

10
−8

10
−7

10
−6

10
−5

10
−4

10
−3

10
−2

10
−1

10
0

 

 
µ

1
 = 3, ε

1
 = 1

µ
1
 = 3, ε

1
 = 3

µ
1
 = 3, ε

1
 = 5

µ
1
 = 3, ε

1
 = 10

f � Ò �   � yJv�S � Ò N t � Ò�  �u�   � È �u��� � �����¯� � �
R∞

τ

� �����   � È ��� � �b��� È � � ��Ô � t �~� È � �
τ

MÏ�g  � � ���~� º � È��u  �u���ÓÕ � �����¯�
T 2

α� � º´� �  
ψ = 2π

M
φ = π

���
(37)

M
ε1 = 1, 3, 5, 10

� �����
µ1 = 1

e � � t � � � m � � º
µ1 = 3

e � �   � Ò ��� mpo

10
−4

10
−3

10
−2

10
−1

10
0

10
−7

10
−6

10
−5

10
−4

10
−3

10
−2

10
−1

10
0

10
1

 

 
µ

1
 = 5, ε

1
 = 1

µ
1
 = 5, ε

1
 = 3

µ
1
 = 5, ε

1
 = 5

µ
1
 = 5, ε

1
 = 10

10
−4

10
−3

10
−2

10
−1

10
0

10
−7

10
−6

10
−5

10
−4

10
−3

10
−2

10
−1

10
0

10
1

 

 
µ

1
 = 10, ε

1
 = 1

µ
1
 = 10, ε

1
 = 3

µ
1
 = 10, ε

1
 = 5

µ
1
 = 10, ε

1
 = 10

f � Ò �   � ¸Zv�S � Ò N t � Ò�  �u�   � È �u��� � �����¯� � �
R∞

τ

� �����   � È ��� � �b��� È � � ��Ô � t �~� È � �
τ

MÏ�g  � � ���~� º � È��u  �u���ÓÕ � �����¯�
T 2

α� � º´� �  
ψ = 2π

M
φ = π

���
(37)

M
ε1 = 1, 3, 5, 10

� �����
µ1 = 5

e � � t � � � m � � º
µ1 = 10

e � �   � Ò ��� mpo

LKN



� �����
ε1 6= ε0

MU� �~�u�
τ
¹�� � � � � È6È���� t�t � ���r� È��_�JÈl� �   � È � � � ¹ t � �¡  � � ���~� � �~�¯� � ��� � ���~� ¹ �¯�'P�ÒK  �¯�r� º Ô½� � ���  

���¯���u����� � t����Jº �®���
(37)
o 	 �   ��� � �   � �M� t ��� È ��� � �����¯� � t»È �)��� º � �M� ��� È ��� � �

(15)
M�� � º�� �¯� È � ���~�u��� t�� ���~�
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Ô � t �~� � �

ηmax
MR� � �   � � �¯� � �   �~� ºÁ� ����� � ��� � ¹Ï�   � �n� � �JÈ �   � � �u��� Èl� �r� � � MOº � È �r����� ���~� � �r��� ���   � � � È�È � �

���~� f �¯�   ���  �º � ��� ��� M�  � ��� ��� È � � ���   � � ��� o�	 �G���~�C�¯���~�   � � � ºDM|È ��� � �]���~�C�.Ô � t � � �����¯�´� � � �¯� � � � �JÈ �   � � �u��� M
  � t � ��� º ��� � � � �r�r� � �����¯� È ¹ �JÈ � º �¯� �}� � t�tU� � È �9� � ���~� º � ��� ��� M � �JÈb�P  � t � ���ÓÔ½� t�� � � ���   � � ��� � � È � e � Ô½�   ��Ò �
^_Oa\ ��� � �C� �Û� ¹��¯�r�

21.637
ÈMo �¯� � � W � V 	j  � Ò ��� {KLKxKx �]�������~� �M�JÈ �C� �

T 5
α

� �   � �~� � � t � M�� �����~�¯�r�[� ��P ��� Ò �������
�¯� � �¯�r��� ���~� ^_Oa\ ��� � � � �  n�M� t�� � t � ����� Ò ���~�   � Ò ����Nw� � � º¬È � º �j� �

(19)
�JÈ�È � � � � ��� ºG� �����G���~� � � �JÈ �   � � �u��� m�M ���

� � t�t � ��È ��� � �j���~� t � �M� t �ÓÕ � �����¯� ��� È � � � ���M�JÈ � �M� �Á�¯� t�� ¹Ï� �¯� �r���.Ô½� º � ����� � � � � �   ¹r��� � ��� ^_O[\ ��� � � oCY Ô½�u�
���
���~�±�   � È �u��� È ����� � �����¯� M�� �~�   �±����� t �  ïÒ � � Ô � t �~��� �

ηmax
� �JÈ �~�¯��¹Ï� �u� � �¯� È � º �   � º ���9� � ���   � � �u��� È�M ���r� È

t � �M� t �ÓÕ � �����¯� ^_Oa\ ��� � � � �r�Ï� �  �È_  � �JÈ �¯� � ¹ t ��¹r�r�   � ��� ��� È � � �Ï�u� È �ÓÔ½� � �~�u� � � � � �   � º´� �����G���~�b�¯�~�T�~� � º � º
¹ � ���~�z�   � � � º �   �8¹ �JÈ � º �¯�9���~��Ñ \bWZV�^­� �r�   � �¯� � e �   �¯�9���~� ^ �  �  �u��� Oa  ��ÐX� � �����¯� � �u���~� º ���Á���~� È ��� ÒKt �
� � ���  X� � � �����¯� �M�JÈ � m ¹Ï� �M� � È �l� � ���~�l� � ���   � � ���j��� � ¹Ï�   � �i� � �JÈ �   � � �u��� ÈMo
V � � �r��� �  �È ��� � �a���~���   � È �u���n�   � � � º �   � � � t�t ¹Ï� � �   �C�~� t � � � tr� �  QÈ � � � t � �����¯� È_� �~�   �C� �¯� � � � �JÈ �   � � �u���

� È �.Ô � t � � ��� º �¡  � � ������� ÒK  � t � ��� � �����¯� È ��� � �r�r�����~� ÈMo�V � � �¯� � M¡È � � �>�.Ô � t � � �����¯� È6È �~�¯� t»º>� t�t � � � È ��� �¯� �r���.Ô½�
t � �M� t �ÓÕ � �����¯� ÈC� ����� � �   �   � �JÈ �¯� � ¹ t � ^_Oa\ ��� � � È � ���~� � � t�t,� � È �~� È � � ���~� º � ��� ��� Ω

�~�¯�,¹Ï�u��� ÒP  � ���r�   � º,o
V � � È¢� � �   � Ò ���¯�.� � �������   � È �

[−K,K]3
Mj� � �M� � � �¯� È � º �   ���~� È � � � ��� � ¹��   � �±� � �JÈ �   � � �u��� È ���

t � �M� ��� M�� � � Ø � � º �  �º �   � �n  � È � t �r�����¯� M ���~� È ��� ÒKt �±� � ���  X� � � �����¯� e
m = 1

mj�JÈj� � t�ta�JÈl� t�t ���~�±� � ���  X� � � �����¯� È
e
m > 1

mn� �¯��� � ���~� º ���¸���r� È   � Ò ���¯� oaq �r� È � �JÈ ¹Ï� �u�¸���~� �M�JÈ � � �   ���~� È �u������� ÒZÈ#º � Ø~�~� º¸�g  � �
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���®���~� È � È �u������� ÒZÈÚº �����   �¯� t�� ���>���~� È ���u�>� � �.Ô � t � � �����¯� � � ���~� � � �JÈ �   � � �u��� ÈMo�qa� �r� �M� t�t��"M ���~�P�   � � � º �   �
� �r��� �  �Èb� �   � È �r��� � ¹ t � � �  b� �¯�%Ø Ò �   � �����¯� È�� ����� �Gt �  ïÒ �}��� � ¹��   � � � � ���  X� � � �����¯� È � �r� t � P � ���®���~�8Ñ \lWZVX^� �r�   � �¯� � M �~�   � M ���~�l��� � ¹��   � �E� � �JÈ �   � � �u��� È�º ��� È �~�¯� º �u�Ï�u� º � � � t � � ��� t�� �¯�
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� �¸� � Ô½�´�   � È �u����� º ���   � �¸�   � � � º �   � ÈP� �   ���~�´��� � �   � �M� tCt � �M� t �ÓÕ � �����¯�¶� � � t � � �   � ����Ò �~�u��� � � � �Ï�  X� � � �����¯� È
� �¯��� � ���~� º ��� � ���   � ��N º � � �u� È ���¯� � t ¹��¯�r� º � º¿º � ��� ��� odYn�¯� �´�¯�~�C� � ���~� È �]�   � � � º �   � È[  � È � t � Èa�¡  � � ���~� � � � N
¹r��� � �����¯� � � ���~� �JÈ��Z� �r���¯��� �}� �  �� � t �

(17)
� ����� �¯�~�P� � ���~� � � t�t � � ��� Ò ����Ô½�  �È ���¯� � tÓÒ �   ����� �_È v ���~� ^ �  �  �u���

Od  ��Ð�� � �����¯� � �u���~� ºDM ���~��Ñ \bWZV�^�� �r�   � �¯� � M�� � º ���~������Ô½�  �È � f �¯�   ���  j� �u���~� º,oCYE� ���u� È �ÓÔ½�z��� � �   � �M� t*È � � N
� t � �����¯� È � � Ô½��¹�� �u�9���  X� �  �� � º ��� º �����   �u��� È �u������� ÒZÈl� � º ���~� �J¹r� � ���~� º   � È � t � ÈÆÈ �~� � ���~� � � � ���u� �u� � � ���~�
�   � È �u����� º�t � �M� t �ÓÕ � �����¯���   � � � º �   � ÈMo � � � t»È � � �¯� �ut � º ����� � �a���~�]�   � � � º �   �#¹ �JÈ � º �¯�����~�,Ñ \lWZVX^¥� �r�   � �¯� �

�KL



� �r��� �  �È±� � t�t N È �r����� º�� �   ¹Ï�¯���)���~� t � �M� t �ÓÕ � �����¯�Â� �j��È ��� ÒKt �G� � �Ï�  X� � � �����¯� � � º ��� � �}� �C� � t ����� t �¸� � �Ï�  X� � � N
�����¯� ÈMoPV �®���~� �M�JÈ �P� �C��È ��� ÒKt � ¹ � t�t N È � � ��� º � � ���  X� � � �����¯� M � t � � �   � � �  l����Ò �~�u��� �!M ���~�P�   � � � º �   � ¹ �JÈ � º �¯�
���~� ^ �  �  �u��� Od  ��Ð�� � �����¯� � �u���~� º´� �r�Ï� �  �È8M½� �  _� �   � � ��� �g  � ���~�u� � ��� È8M�� �   � È �r��� � ¹ t � � �   �l� � t�tÏ  � � �¯� È �   � � �����¯�
eg� �u�����  b� � º &   �Jº ��� È & mpo
Q�È �J¹ È �   Ô½� ºDM � �¯� � �¯�~��� � ���~�l�   � � � º �   � Èj  � ���r�   � Èj� Ø~�r�����±��� � ¹��   � � ��� � �   � �M� t ¹��¯�r� º~�  ���� � �JÈ �   ��N

� �u��� È8M,� �~�   �P� �¯� � � � �JÈ �   � � �u��� M �JÈ�È � � � � ��� º � ����� � �   � È��u  �Ó¹�� º ¹Ï�¯�r� º~�  �� � t � � �   � �P� �  �  �u��� M � È �J¹r� � ���~� º
¹ � È � t Ô���� Ò ���~� º � È��u  �u��� � �  �� � t � �����¯�

(19)
� �   ���r� È �   � È��u  �Ó¹�� º º~� ��� �
oÁq �~� ^_Oa\ ��� � �G�~� � º � º ��� È � t Ô½�

(19)
� Èn  � t � ���ÓÔ½� t�� � � ���   � � ��� ��� � � � � �   � È �¯� � �����¸���~�C��� � �j��� � � � �¯� t»º ¹Ï�   � ���r�   � º�� �  QÈ � t Ô���� Ò ���~� º � È �u  �u���

� ¹ �¯�	P|ÒK  �¯�r� º � � �  �� � t � �����¯�Á��� � t � � �   � � Ø�� t»º,o]V � � �¯� � M ���~��� È � � t �   � � � Ò � t � �����¯� �   � � � È�È�MR� �r� t ��� º �~�   �±���
Ω

M
Ò �u�~�   � ��� Èb�P� �¯� � �  �� ��� ÒG� � È � � �

Ω
��� � �C� ��P � È ������� �¯� � �¯�r���j���~� º � È��u  �u���ÓÕ � �����¯� � � � �¯� � � � ���  X� � � �����¯� � � º

t � �JºXÈ ��� � ��� �r� � È�È �ÓÔ½�P��� � ¹��   � �#º � ÒK  � � È � � �¡  � � º � �1�M� � È � º ¹ � ���~� È���� t�t �~� È�È � � ���~��� � ���  X� � � �����¯� È �
� È ��� � � � t�t���È ��� � �z���r� È � Èb� ���   � ��N º � � �u� È ���¯� � td� � È � � � ºBÈ ��� � � � � � � º Ø~�r�����z� t � � �u��� Èl�   � � �¯� È � º �   � º,oTq �~�
º � È��u  �u��� È��|È ��� �   � È � t ����� Ò��g  � �

(19)
� �JÈ ���~�u� � Ô½�  �� t �  ïÒ ����� � ¹Ï�   � � �r� P �~� � � È � � º �.Ô½�u�¿¹ ��È � t Ô���� Ò ���r� È

È��%È ��� ��� ����� � �®�����   � ���ÓÔ½�P�   � � �¯� º �������¯�~� º�� tÓÒ �   ����� �]Mi�JÈ�º �¯�~�P�~�   � M ���~� t � �M� t �ÓÕ � �����¯� ^_Oa\ ��� � �   � ��� ��� È
� � ���   � � ��� o�V �Â���~���   � È �u� � �
� �l�®t �  ïÒ ����� � ¹Ï�   � � � � ���  X� � � �����¯� È8M ���r� È�t � �M� t �ÓÕ � �����¯� ^_Oa\ ��� � � È �~�¯� t»º
¹�� � � � � ���r����� � � ���u� È �ÓÔ½� È ��� � �±���~� ��� � ¹��   � �dº � ÒK  � � È � �a�¡  � � º � ��  � È � t ����� ÒG�g  � � ���~� � � È �Á� �

Ω
�JÈj� � t�t

�JÈ ���~����� � ¹��   � � �~� � º � º ��� � �   � �M� t,� � �JÈ �   � � �u��� È±e � � � � t���� �����¸���~�ÆÑ \lWZV�^¶� �r�   � �¯� � m � �¯� t»º ¹Ï� � �   �
� � ���   � � ��� ��� ��� � � È ����� � �����¯� o
V � ���~���   � È �u� � �¸� � � � �Ï�  X� � � �����¯� È � �,È���� t�t �  �È �ÓÕM� È ��� � �����~� È � � �¯� È � º �   � º
�~�   � M ���~�l��� � ¹Ï�   � ��º � ÒK  � � È � �E�g  � � º � � �JÈ�È � � � � ��� º � �����

(19)
M�º �   �ÓÔZ��� Ò��g  � ���P� � t�tÛ� �¯� � �  �� ��� Ò¸� � È �9� �

Ω
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